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[ M-1] MAT-1

Mental Ability Test N FH AT qAET
MENTAL ABILITY TEST

1. Qutb Minar : Delhi : : Rock Garden : ?
e TR : Foolt ¢ ¢ e e : ?
(1) Kolkata (W) (2) Chennai (aﬂé)
(3) Chandigarh (EIU—S%"I—G?) 4) Bengaluru (a"Tﬂ"@_)

2. If in a code CLOUD is written as DMPVE, then in the same code how SIGHT will
be written ?
IT FHU HIE H CLOUD %l DMPVE & €U § @ S af 39T HIE § SIGHT i
T TGl U ?

(1) SGHJV (2) UGHHT
(3) UHJFW (4) TJHIU
Q. 3-7 Read the following information and answer the questions based on it :

(i) A, B, C D, Eand F are six family members.
(i) There is one Teacher, one Professor, one Engineer, two Students
and one Housewife.
(iii) There are two married couples in the family.
(iv) A who is a Teacher is father of E.
(v) Fis a Student and mother of D.
(vij Bis grandmother of D and is a Housewife.
(vii) Cis father of A and is an Engineer.
(viii) D is brother of E.
T T Gd STHHRT U¢ 3 39 YR W Y941 o I 3 -
(i) A B, C D EJU FUH GIER & T: G5 ¢ |
(i) 79 9 UH I&Th, Ueh 3TeATIh, Ueh 37 9T, & S a7 Teh TN ¢ |
(i) TR H 3 FeTEd I T ¢ |
(iv) A, E T UaT € S Uk 9I&T & |
(vy FUH SETE S DO E
(vi) B, DI SN & ST Tl § |
(vi) C, A T UaT € ST Teh 37 9T & |
(vii) D, E &l 91 |
3. Which of the following statements is definitely true ?
TAAET | B HAF AT T TI T ?
(1) Cis father of the Student (C, B I Tl %)
(2) Bis grandmother of the Professor (B, 3TUH Eal E'la %)
(3) Fis the father of Professor (F, 3T&T0eh & Tdl %)
(4) Dis the brother of the Professor (D, 3T&T9eh hl “Tlé %)

4. Which of the following is one of the pairs of married couples ?
TAAET H G P T s ad § I Th A § 2
(1) FB (2) FA (3) CF (4) FD
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5.

10.

Who is the Professor ?
I AR & 2

(1) D

(2) E

(3) Either Dor E (D 31961 E W § g Th)
(4) A's son (A T )

How many female members are there in the family ?

TR H -l T EAT T8 € ?
(1) Three only (FaeT dF) (2) Two only (heet BT

(3) Three or four (T‘ﬁ:f I IR) (4) Two or three (ﬂbf g7 Fﬁq)
How is D related to B ?

D% T B H T G § ?
(1) Granddaughter (q%ﬁ) (2) Grandson (‘ﬂ?)
(3) Son (33[) (4) None of these (379 9 +E :iﬁ)

A man walks 2 km to the east, turns left, walks 2 km and turns left and walks
2 km. Which direction is he facing now ?

TF A Jd H AR 2 FH FoIdl €, B aE 3R TSR 2 FHH dF Foll | g8 W
e 3R eI 3R 2 FHH ToAT| T 0T o8 HT 390 Bl IR Hg Y TLT § ?

(1) East (‘13}) (2) West (afg=m)

(3) North (3T) (4) South (T &)

If UNDERSTAND is written as 1234567823 in a code language then in that
language START will be written as

(1) 56781 (2) 83243
(3) 73652 4) 67857

I T UNDERSTAND hl Hdl Gich ek 9101 H 1234567823 1@l ST df START ohi

T G SR 2

(1) 56781 (2) 83243
(3) 73652 (4) 67857
In this question, select the one figure which is different from the other three.

T U H 3T 3MFH T I 5 T il & 0 |

3l [ O] O

A B C D
(1) A (2) B @) C 4) D
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[ M-3] MAT-1

Q. 11-13 Study the following diagram :

11.

12.

13.

14.

T T R 3T HY

Youth Educated
outh - 7 ffea

b \5/
A
N

Employed
HEA
Identify the region representing the youths who are employed, but not educated.

39 & I TeaH H S I & S JoThl T A1 HERT € W] I &7 el &
(1) 4,5,6 (2) 4 only (FaeT 4)

@) 1,4,7 4 4,7

Identify the region representing youths who are educated but not employed.
39 &1 I Tea P S I & S IRl T S I8 § W] PR el 8
(1) 2,5,4 2) 2,5,6

3) 4,5,6 (4) 2 only (Fae 2)

Identify the region representing youths who are educated and employed also
39 & S TEAM L ST ST € 3 Johi T S 97 &7 AT PR of F)

(1) 6 only (FaeT 6) (2) 7 only (et 7)

(3) S only (haet 5) (4) none of these (9 9 FrE '_ﬁgf)

If 'x' means 'sum', - means 'division', '+' means 'subtract’ and '+' means

'multiplication, then which of the following equations is true ?

T % BT T AN, '~ T T GET, T I T qdr + T Y O g ol
T g B § RA-AT T E 2

(1) 16+5-10x4+3=9 (2) 16-5x10+4+3=12

B 16+5+10x4-3=9 4 16x5+10+4-3=9

Q. 15-16 Identify the missing number in the following sequence :

15.

16.

17.

[ Hints : all are prime nos. |

T S 52 @l § W 9= Ygar A
31, 37, ?, 43, 47, 53
(1) 39 (2) 40 (3) 41 4) 42
2,3,6,15,42,?
(1) 84 (2) 123 (3) 94 (4) 60
If BAT is coded as 283, CAT is coded as 383 and ARE is coded as 801, the code
for BETTER is
IT BAT 1 Al IS 9T H 283 T STl & CAT i 383 TUT ARE I 801
T ST & o BETTER %1 IS T 81T ?
(1) 123301 (2) 213310 (3) 213301 (4) 012334
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MAT-1

18.

19.

20.

21.

22.

23.

24.

25.

[ M-4]
How many rectangles are there in the following diagram ?
TH T H Hd AT € ?

(1) 5 (2) 15 (3) 11 4) 12

In any code language DEVIL is written as ABSFI, then how OTHER will be
written in that language ?

FAl FihdH AT § DEVIL ! ABSFI of@l ST &, af 3d Gihdsd 9T
OTHER ! ST @l SR 2

(1) LRECO (2) LQEBO (3) LWEBO (4) RWKHV

What will be in place of (?) ?

(?) % T I 7 BN ?

A G MR X,?

(1) A (2) B 3 C 4 D

What will be in place of (?) ?

(?) % T I FT BN ?

AT, CS, ER, GQ, ?

(1) JP 2) IQ 3) IP 4) Jo

Crime : Punishment : : Good work : ?

Y : TUE : : Gohd ¢ 2

(1) Sin (M) (2) Reward (QT&HR)

(3) Good (3T=3) (4) Entertainment (HT-ﬁ'{s_rF[)

Import : Export : : Expenditure : ?

AT : A ;AT ¢ ?

(1) Revenue (3THEAT) (2) Deficit (TTET)

(3) Tax (FX) (4) Exchange (I HY)

If in English alphabets first and twenty-sixth letters are a pair, second and
twenty-fifth are a pair and so on, then which of the following is a like pair ?

af{sqﬁ—vﬁaﬂﬁnwﬁwaﬁ?@aﬁwawwwa 3R U=ar 31eR AT
71 3R o oF T WER ST SRl W w9 <, A mw@ﬁﬂﬁﬁqmw
SireT BT ?

(1) IP (2) GR 3) Cw (4) EV

Select the word which can be made by using the letters of the given word :
TAAET THeAl H ¥ 9 & AU S JU T IE &R FHI AN Fileh ST
ST gehelT &

MULTIPLICATION

(1) MUTUALY (2) LIMITATION (3) APPLICABLE (4) NOTIFICATION
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[ M-5]
26. How many meaningful English words can be made by using each letter of the
group of letters ACER only once ?
ACER 3TeR-Ug & U 31eR 1 UHh-UF aR TN Feh S o o 1&gl
I T ST T § 2
(1) 1 (T 2 2@ @) 3 () @ 4 (3R)
27. Select the word from the alternatives which cannot be made by using the letters
of the given word.
TAATT Thedl § ¥ 98 I AU ST JU T I ok ERT B FANT Bk Tal
AT ST Hehd(
SUPERIORITY
(1) PURSE (2) PURSUIT (3) PRIORITY (4) PURITY
28. If in any code language CAME is written as JZBF then, what will be written for
CAKE in that language ?
I3 HUl DS AN § CAME I JZBF Gl ST &, o I°T 9T § CAKE i T
T S 2
(1) JBVF (2) FJVB (3) JVBF (4) FBVJ
29. In any code language CARE is written as BZQD then how LEMON will be
written in that language ?
AT Fich T 9T § CARE &l BZQD 1@l ST €, o ST 99T § ¥ LEMON
Y ThR 1@l ST ?
(1) GDEDO (2) GDDMO (3) OVNLM (4) KDLNM
30. In certain code CLOUD is written as DMPVE then how SIGHT will be written in
that code ?
Ul Thd § CLOUD &I DMPVE 1@ T, df 38 Thd # SIGHT 1 T TGl
ST 2
(1) SGHJV (2) UGHHT (3) UHJFW (4) TJHIU
Q. 31-35 Below are given some numbers with some letters. Study them and
answer the questions :
T F 3 & A FT AR I T §| TR THAT F A AT T
FIWT
S 2 6 3 0 1 8 7 4 9
P D N L G K H J B A
31. 384029
(1) LHBGDA (2) ADGBLH (3) PDNLHG (4) DCBANL
32. 422605
(1) CLNDOPB (2) BDDNGP (3) PGNDBC (4) CBADLC
33. 3265401
(1) OPNDCBA (2) LCDBDNO (3) LDNPBGK (4) KGBCDNC
34. 1003241
(1) KGGDLBDK (2) CNDLBOK (3) BCDBAAC (4) KGGLDBK
35. 321567

(1) LDKPNJ (2) JNPKDL (3) LKDNJP (4) PJKLDN
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36. The way in which 'Whale' is related to 'Mammal' in the same way to which the
'Crocodile’ will be related ?
S ey ‘TEd R CETEOE H €, Rl Hed AR’ AR TEaEd H 9
FHHH § ?
(1)  Amphibian (SYI=R) (2) Aquatic (STeTeR)
(3) Mammal (WQT*Zﬂ') (4) Bird (q&;ﬁ)
37. The relation that exists between China and Beijing, the same relation exists
between Japan and which of the following ?
S Hey T 3R SIS 6§, o Wy S SR T A Ed § W HEH § 2
(1) Moscow (tl'l'{aﬁ) (2) Rome (ﬁ'q)
(3) Berlin (IfcT) (4) Tokyo (i)
38. The relation which exists between pasteurization and Louis Pasteur the same
relation ex1sts between Aeroplane and which of the followmg ?
ST ey OTeeRieRur 3T ngw HT T, e Gy IgEAE’ R T AET § 9
FHHH § ?
(1) G. Marcony (Sfto TR (2) J. L. Baird (S0 Telo 9T%)
(3) Wright brothers (313 W) (4) Brecket (W)
39. The relation exists between DSO and GVR the same relation exists between
NDV and which of the following ?
S YR DSO U &d & GVR ¥, 3% W YHR NDV & Ty FHAEd § 9
FTR A T ?
(1) YGQ (2) QYG (3) YQG (4) QGY
40. The relation that exists between 'Canada’' and 'Maple leaves' the same relation
exists between 'Sri Lanka' and which of the followmg ?
ST Gee ‘ST SR HUST Uit % S ¥, g6l Gy Sfieier’ SR e AT € 2
(1) Lion and Sword (TﬁT 3R TAdR)  (2) Olive leaves (ﬁTf el ‘Fﬁ)
(3) Eagle (é"l?”f) (4) Rose flower (W <hl W)
Q. 41-43 Answer the following questions on the basis of the information given :
T el GETS o SUR W T o T T & IR S
(A) The meaning of P+ Qis — Pis the brother of Q
P+QF FIE —PHEE QH
(B) The meaning of P— Qis — P1s the mother of Q
P-Q®F & — PHI T Q FI
(C) The meaning of Px Qis — Pis the sister of Q
PxQFATE — PTETE Q I
41. Which of the following means that M is the maternal uncle of R ?
T A H W HEHT 3 M T E, R F ?
(1) M+K-R 2) M-R+K 3) M+KxQ 4 M-K+R
42. What conclusion do you extract from M+ N- QxR ?

M+N-QxRY 3T FT TS Tl Tohl © ?

(1) Ris the sister of N (RSET & N )

(2) M is the maternal uncle of Q (Q 1 HMT M %)
(3) Ris the husband of N(N T 9d R %)

(4) Ris the brother of Q (Q Eill ":l'lé R %)
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43.

44,

45.

46.

47.

48.

[ M-7] MAT-1

Pis the brother of Q, R is the sister of Q and S is the sister of R, then how is Q
related to R ?

PORYES, ROB TETL A S, RHI 9878, dl O, R Y ¥ THR G &4d & ?
(1) Sister (S&) (2) Brother or sister (TS a1 &)

(3) Brother (8T%) (4) Father (9dT)

Indicating to a picture Aparna said "He is the only son of the father of the
brother of my sister". How is Aparna related to that person ?

T TR 3R Gohe I §U TUUT 5 FEl & g¢ BRI Ted h Ok UAl H
THAH O &7, Al T8 A H YU ¥ HE TR Hel & § ?

(1) Maternal uncle (| (2) Father (gar)

(3) Grandfather ( IdTHE) (4) Brother (4T%)

Chhaya is telling to Anuradha "The father of your daughter is the son of my
maternal grandfather". How is Chhaya related to the husband of Anuradha ?
BT STRTET § el & & MUl 52 & UaT W A1 o qF &, df 98 & DA,
WL Td  HH YhR T ad & ?

(1) Sister (F&7) (2) Mother (HT)

(3) Aunt (FTD) (4) Niece (SFsT)

A lady walked 15 km in the eastern direction, then walked 4 km towards north
and again walked 12 km towards west. How far is he from her starting place ?

T 3RT 15 HelHiel Jd T Bl 3R T & 9% 4 HAHR I AR TR &1 9

ga@ﬁa%mﬁsﬂ?aﬁ%ﬁwﬁaﬁaﬁaﬁuﬁwwﬁm
¥

(1) 31 km (31 HeAHER) (2) 5 km (5 HeAHRR)

(3) 19 km (19 HeAHER) (4) 27 km (27 FeAHRR)

If a clock is kept in such a way that its figure of 12 comes towards east, then in

which direction will be the figure of 9 ?

IT FHE TS F T THR WM ST & 12 HT 37 G 90 H &, a I & 9
3% FHH M H BT ?

(1) South (T &UT) (2) West (afgem)

(3) North (3) (4) East (q9)

In the morning I went for a walk in the garden. I was standing in a place and

wanted to see the sun. For this purpose I turned 90° anticlockwise. But I could
not see the sun. So I turned 270° clockwise. This time I could see the sun. In
which direction I was facing at the first ?

qeE & 9FF H a6 ° g T H TS S @l o1 R gF H 3@l aedr ol
TAF AU H Tget TS I GE B aWRId I H 90° HeT| Gd @ 7 3 % RO
W TS I e Bl I H 270° GST| 3G § GI I 3@ TohdT AT | I § Tgot Y
TIM 1 3R g Tl @l AT ?

(1) North-west (STR-Uf¥=H) (2) North (™)

(3) South-East (¥ &TUT-‘@) (4) West (afg=m)

NTSE-2019/20-M-1/0001 9



MAT-1 [ M-8]

49,

50.

51.

52.

53.

54.

In a morning just after the sunrise A and B was talking between each other face
to face. If the shadow of B fell just on the left of A, then just opposit of which
direction was the face of A ?

Uh & YATA & G TG A AR B UH-TH Y - I F W 41 AT B H
WSTE A % Sl a1 U V&l <A, di A 7 Jedl 9 S0 o 3k ouid o1 ?

(1) North-east (W-@) (2) North (EMW)

(3) West (4fs=d) (4) South (3 &WT)

In the evening just before sunset, Ram and Mohan were standing in a courtyard
and talking between each other. If the shadow of Mohan falls is just on the left
of Ram, then in which direction is the face of Ram ?

TS I YART ¥ 3F Teet TH 3R [ie Tk 9k W TS gl a1 X | 91 3R

e i TSTE 9 o 3k a1 ULl &, af 9 T =&l I M i 3R g 2

(1) East (‘13}) (2) West (afgem)

(3) South (T &f01) (4) North (3T)

Kiran, Suman, Vidya, Naina and Kamala are five friends. Naina is younger than

Kamala, Suman is younger than Vidya and Vidya is younger than Kiran. If

Suman is elder than Kamala then who will be in the middle in the order of their

ages ? ] .

Y07, A, T, A1 qAT KT U T oAl & | 1wl ¥ Bl §, A o °
g a9 g O W B &1 IS YA, HHAT F ST & Al g hA & 3k g

T T BT 2

(1) Kamala (FHe) (2) Suman (QTFT)

(3) Vidya ( ==IN) (4) Kiran ( T07)

Garima, Rupa, Anjali and Khushbu are made to stand in ascending order of

their ages. If Rupa is elder than Khushbu, Garima is younger than Anjali and

elder than Rupa, then who is the youngest ? .

TIT, BT, 3T 3R GO Hl 396 G F AR ARG (Jgd) 9 ° @S AT

ST &1 IS ®UT, GO 9 39 H T @, TIE, A ¥ 3T § Dl & I T G 3G

o gl & O 37 G § a9 Diel S & 2

(1) Anjali (3757 1) (2) Khushbu (G¥E)

(3) Rupa (¥I) (4) Garima (7T TH)

In an examination Suman has got equal marks as Kavita. Meena got more

marks than Geeta, but her marks was less than Suman. Who got the least

marks ?

N AT H FEA Sl & a1 & SREX 37k T g3 | HAT i Tl ¥ 37 9 37 o

T3, T 3% 37 YA § T & A1 9 A 3Tk HY A g ?

(1) Suman (gA ) (2) Meena (HHT)

(3) Geeta (Tﬁ?ﬂ) (4) Kavita (b 9dT)

Gopal is elder than Mohan but younger than Ram. Mohan is elder than Sohan

but younger than Ram. Who is the eldest ?

T, Te- 9 ST &, W T 9§ BT ¢ | Higd Gied § 997 €, W 79 & BT &, f

T ST A ¢ ?

(1) Mohan (|rE) (2) Sohan (dre)

(3) Ram (X9) (4) Gopal (TTATeT)
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[M-9] MAT-1

Sourav is elder than Neeraj, but younger than Vinod. Manu is elder than Vinod,
but younger than Shivam. Who is the eldest ?

R, T ¥ 991 €, A H oHR @ BTl 7, oK% 9 991 €, 9% ¥Ed ¥ BT
T a9 SS[ hiH ¢ ?

(1) Sourav (@T‘q) (2) Neeraj (:ﬁW)

(3) Shivam ( 3TH) (4) Manu (tlﬂ)

Q. 56-60 Six persons A, B, C, D, E and F are sitting in a circle facing the centre.

56.

57.

58.

59.

60.

A is in the middle of B and C, but E and C are face to face to F. D is
second in the left of E.
B: AW A, B, C, D, E A FUH I H b5 ! AR T8 ek 93 &1 A, B TS
CHEIATHAE, ] ETI C FH W—quéa%l D, E % ad
THTE |

Who is second person sitting in the right of A ?

A% S SO ATH B 43T § 2

(1) D (2) E (3) B 4 F

Who is sitting just on the left of D ?

D % TchIel a1 i &3 € 2

(1) B (2 A 3 C 4) F

Who is sitting just in front of F'?

F3% 3ich TEH i S92 € 2

(1) cC (2) B 3 A 4 F

Who is sitting just in front of E ?

E & 3% T HiF 937 § ?

(1) c (2) D 3) B 4 A

Who is sitting just in front of D ?

D % 3l G S J9aT1 € ?

(1) C (2 A Q) F (4) E

Q. 61-64 Six books are kept one above another. Biology book is just under the

61.

62.

Physics book. Chemistry book is in between Hindi and Geography books.
Anthropology book is not on the top. Biology book is at the bottom and
Hindi book is on the top.

B: T&Ih Uh o S Ueh TEN T € | S g5 Sl [ash ol dohl &l & &
3% A ¥ TAEAYIRA H e Rl 3R ST i YA ok dd § g
AHITE & [ 998 SR T8l § | S a9 & % 969 A § o
g1 ol TP 9ad I &

Which book is in second place from the top ?

FH-H TEIh TN Y TR ©HE W E ?

(1) Chemistry (TETIA9E) (2) Anthropology CIEENIESZ))

(3) Geography (SJTeT) (4) Biology (S a=T)

Which book is fourth from the bottom ?

HH-G T Aa T e

(1) Hindi (&=<T) (2) Geography (*JTeT)

(3) Anthropology (HTERIE) (4) Chemistry (THERITE)
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63. Which book is third from the top ?

[ M-10]

IR G AR FF T -9 [qh & ?

(1) Geography (H‘IIFI)
(3) Physics (‘rﬁ?ﬁﬁf)

(2)
(4)

64. Which book is in between Chemistry and Anthropology ?

TARAIME 3R AR & &g § hH-9 J&® € ?

(I) Physics ("ﬁ(‘ﬂﬁ)
(3) Biology (Sie o)

65. Which of the following words will come third in the English dictionary ?

(2) Geography ( Tﬁ?*f)

(4)

Hindi ( &=<1)

Anthropology (HTHERITE)
Biology (Fﬁa IA)

I 3T T IR H TS FUHIGT F SR TS W HE-GT IE A H R

A 2
(1) Reconcile (2) Reconstruct (3)
Q. 66-70 What will be in the place of (?) ?
(?) % T W FT BN ?
66.
° Y4 ! YS ’ Yﬁ
40 54 ?
(1) (3)
67.
10
(1) 1000
K 3) 3000
68. 9 s 1
2 5 7 3 3 7 6
69. 7
63
214X 2| 9 (1) 33
30 3) 135
15
NTSE-2019/20-M-1/0001 12
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(2)

(4)

(1)

(3)

(2)

(4)

(4)

(4)

2000

4000

142

144

145

18

Reconnoitre
85

(2) 242
4 216



[ M-11] MAT-1

e

Q. 71-75 In the following questions two statements and four conclusions
I, II, III and IV have been given. According to the logic you have to decide
on the basis of the given two statements that which conclusion is
correct :

9 I T URF T H I FHIA & A€ IR ASHS I, 10, 11 R IV TF T E
Th % TR SRl FUF HEAT § & I HIAN P SMER W HiA-AT ThY
W E ?
71. Statements: A. Some students are children.
B. All children are girls.
Conclusions : 1.  All students are girls.
II. Some girls are students.
III. Some girls are children.
IV. All children are students.
(1) Only conclusion II is correct
(2) Conclusions I, IT and III are correct
(3) All conclusions are correct
(4) Conclusions II and III are correct.
O A. TS BH I |
B. T I=I TIg HAT ¢ |
TSRy I @ B de HAT & |
I F8 o %Al 3 T
. FS 7 HAr aed |
v. qt 5=d B €1
(1) haeT ThY 11 W&l &
(2) TSRS I, [T I Tel &
(3) Tl ToRY WEr &
(4) TTRY 11 9T 11 Wel &

72. Statements: A. All papers are pens.

B. All pens are wet.

Conclusions : 1. Some pens are papers.
II. No pen is paper.
III. Some wet are pens.
IV. All wets are papers.

(1) Only conclusion I is correct.

(2) Conclusion I or II is correct.

(3) Conclusions I and III are correct.

(4) Conclusion III or IV is correct.
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MAT-1

[ M-12]
H A. | O HoH
. ey o g |
T . P HeAd B |
II. IS HoTH HIT 81 & |
. F8 9 w0 )
v. @t offT e E)
(1) haeT T&hY [ W&l €
(2) TSRS GE €
(3) TT=RY [ 9T 111 Wel &
(4) TTRY 01 ATV el 8

73. Statements : A.

B.

Conclusions : 1.

(1)

II.

III.
Iv.

Some windows are doors.
All doors are handles.
Some windows are handles.
All windows are handles.
Some cats are handles.

All cats are handles.

All conclusions are correct.

(2) Conclusions II and IV are correct.

(3) No conclusion is correct.

(4) Conclusions I and III are correct.

FH - A. T TSH AN |
B. Wt Sy A 2

TR I 9 TSH g ¢
I ol TEH e B
. F8 docll 65 1
v. g goelt §e

(1) &t T=py wer 8

(2) TSRS 11 TAT IV W@ €

(3) T THY Wl I €

(4) TSRS [ 9T I Tel &

NTSE-2019/20-M-1/0001
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74. Statements: A. Some black are yellow.
B. No yellow is not white.
Conclusions : I.  Some yellow are black.
II. Some white are black.
III. Some white are not black.
IV. All white are black.
(1) Only conclusion I is correct.
(2) Conclusions II & III are correct.
(3) Conclusions I & III are correct.
(4) Only conclusion III is correct.

H A.  FD HeT Ol
B. hIg Uil STl T B |
TEY I P Uil Hel ¢

II. F° IoTcl FIeAT €
II. S IoTcAT Hlell el ¢ |
v. @t 3T FTell 1

(1) helel T=hY [ Tl &

(2) TSRS II T I T&l &

(3) TSRS [ T 11 WEl &

(4) herel TSRY 111 T8l €

75. Statements: A. Some pens are pencils.
B. Some pencils are papers.
Conclusions : 1. All papers are pens.
II. Some papers are pens.
(1) Only conclusion I is correct.
(2) Only conclusion II is correct.
(3) Both conclusions I & II are correct.
(4) Neither conclusion I nor conclusion II is correct.

Ho A. T U UFTA €|
B. $9 U9 HI ¢ |

T I I HEST U €
II. $ FHEST UF €|

(1) hoeT T&hY [ W&l €

(2) hereT TERY 11 Tel §

(3) =Ry 1 R 11 ST Wel &

(4 T THY AT 1T ®
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MAT-1 [ M- 14]

76.

77.

78.

79.

80.

Which diagram represents the relation between Ruble, Dollar and Rupee ?

TEeT, SOR 9 YT % 1T & Hee I HIA-A 3P T YR Hdl & 2

(1) . (2) @O (3) OOO (4) @

Which diagram represents angle, side and triangle ?

VT, ST I TS o S & GoY T HIFA-UT 3P T TIRIT FIAl & 2

(1) OOO @ @ @) @O )

Which diagram represents TV, Freeze and Cooler ?

odlo, ST I FoR o a9 & Tae hl HIA-Tl F T TSR Al & ?

(1) OOO (2) . (3) @O (4) @

Which diagram represents Boy, Girl and Man ?

TS, AASH! I T & did & Ty Hl A Hd H & HE-9F AHT TSR

FATE ?

(1) @ OOO @) @O ) @

Which diagram represents India, China and Russia ?

IR, 99 9 ©F & o9 & Gy Bl HA-G7 N T IS BT § 2

(1) (2) OOO (3) @O (4) @

NTSE-2019/20-M-1/0001 16



Q. 81-85 Question Nos. 81 to 85 are based on the following diagram in which four

81.

82.

83.

84.

figures (one circle, one square, one triangle and one rectangle) are
overlapping each other. Different regions of the diagram are marked with
letters A to Q. Read each question carefully and choose the correct
alternatives.

T 81 § 85 A% T A °F W UG §, THH IR MF ! (TH I,
TS o, TH THUT HR TH ) TH-IE H S g¢ &, 99 &k I 9qF &7
A¥QTH & I R ¥ AT bl &1 TAP U9 UG A I g IR
Ahicush ST H § Tal IR AT i |

In the given diagram which letter is inside the square and triangle, but outside
the rectangle and circle ?

TCEW O § G HA-AT MR I AR TS & AR §, F] M 3R I &

TR E ?
(1) G (2) I 3) L 4 F

Which letter is outside the square and triangle, but inside the rectangle and
circle ?

TCET o H 79 H § HA-TT 3R o 3R YT & e &, e AT 3R g o
fiR § ?
(1) D (2) B 3 C 4 A

Which letter will come inside the square, circle and rectangle, but not inside the
triangle ?

TCE oA H T H § HA-T1 3R 0, I R I & IR & =g T &
ffeR T&l ?

(1) E (2) D 3) C 4 B

Which letter is inside of all the figures ?

JCEL o § T H T HH-T7 38R Qo M qai & AR & 2

(1) € (?) B 3) A 4 Q

NTSE-2019/20-M-1/0001 17



MAT-1 [ M-16]

85.

86.

87.

88.

89.

Which letter is inside the rectangle, square and triangle, but outside the circle ?
IR ICEW T | T § § HH-91 2R 37, a7 AR TS % e, W] ga &
T ?

(1) B 2 C 3 A 4 L

The director reached the conference hall for the meeting at 10 minutes earlier
than 11:40 and found that his joint director who was 30 minutes late had
reached 20 minutes earlier. What is the scheduled time of the meeting ?

HIfT & T R & H 11:40 ¥ 10 T Y Tgaehi SRRFX hl Tal 9l & 98
TS ST | ST & 30 TS o T, 20 TAC UEcl UEd TR ¥ | Wl T T
T R ?

(1) 11:40 (11 ISR 40 HAS) (2) 11:30 (11 ISR 30 HAL)

(3) 11:20 (11 ISR 20 HALS) (4) 11:50 (11 ISR 50 HAS)
A candidate joined an examination in which he answered 108 questions. In the

examination every wrong answer will get negative %rd mark and every correct

answer will get 1 mark. If the candidate has got zero then how many wrong
answers he has given ?

FA T W UH et AEA AT I SHH 3T 108 WA A FU| TH e H

o

S Tofd W WL 37 RUTCHE® Hold € 1 WA Wl W FRA W 1 3

HADT €1 TT 3T I 316 U W & af 3T e I Told U & 2
(1) 27 (2) 62 (3) 54 4) 81
On my birthday my father distributed Rs. 280 in such a way that each girl gets

Rs. 20 and each boy gets Rs. 10. If the number of girls is 2 more than the boys
then how many boys were there ?

W T A WS- T99 W 280 Fo TH THR A F T&H ASH Hl 20 Fo 7T
TGH H 10 To Tel | TT TS AT hl TEAT, TTSH § 2 ST UH & ol TIghl i TE&AT
FHAA § 2

(1) 5 2 9 (3) 10 4 8

My mother's age is double of my sister. My father is 20 years elder than me.

When my sister was born I was 5 years old. If my sister is at present 17 years
old, then what is the difference of ages of my father and mother ?

T A O 6T 9 AT 3MY A T W U Yo 20 A9 9 §| T % S & gHY
d 5 a9 AT AT WA T G 17 99 H & Al W AC- TG B G H A
IFR T ?

(1) Syears (5 <_>|'€T) (2) 6 years (6 <_>|'€T)

(3) 7 years (7 5|'5|‘) (4) 8 years (8 5|'5|‘)

NTSE-2019/20-M-1/0001 18



MAT-1

[ M-17]
90. B's age is 4 years less than A. D's age is 4 years less than C, but %th of A. If C's
age is 8 years then B's age is how much time(s) of D ?
B A AW 4T HH g DH Y CH 40 F &, W A H A H 1 2
T CH AT 8 TT € Al B 3 D H! G W el T & 2
(1) 1 (2) 2 3 3 @ <
Q. 91-95 In each question there are four figures 1, 2, 3 and 4. Among these four
figures three are alike and one is different. Select the different figure.
T U9 H UR Al 1, 2, 3, 4 & M €1 T AR BT H ¥ dF
3T 1 H T TUMAT € U Uh MF T 9 &1 9 37 d I Yl ey |
o | ()N AT
(1) (2) (3) (4)
—_— /1
=2 |101] O | 0. \O\
—
(1) (2) (3) (4)
b dhsdhsdh: e
(1) (2) (3) (4)
~ |||
(1) (2) (3) (4)
o (R[]
(3)

=

NTSE-2019/20-M-1/0001 19



MAT-1

Q. 96-100

[ M-18]

In the left of each question there is one question figure and to the right
there are four answer figures 1, 2, 3 and 4. You have to select the similar
figure to the question figure among the four answer figures.

T M UAE YT W FE IR W AR IW SMF adl, Sk A
(1, 2, 3T 4) oAl &, H ¥ UH a0 AR I T WRA-3MF T Sl ¢

Te-3h T W HAM 3T d el 3T 37T o I |

96. Question figure Answer figures
-3 TR~
(2) (3) (4)
97. Question figure Answer figures
Y- 3T o I -3 4T
N o~ 44\
= = \/
(1) (2) (3) (4)
98. Question figure Answer figures
-3 ITR- 3T Tt
(1) (2) (3) (4)
99. Question figure Answer figures
Y- 31T I -3 4T
G ol | ]| &} =
—
(1) (2) (3) (4)
100. Question figure Answer figures
-3 ITR-3TF At
(1) (2) (3) (4)
NTSE-2019/20-M-1/0001 20
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SAT-2

Physics

1.

Which of the following terms does
not represent electrical power in a

circuit ?
(1) I2R (2) IR?
3 wI 4 VZ2/R

For a steady current I, the amount
of heat H produced in time tis

(1) IR?t 2) IRt?

3) I’Rt (4) I°R%t
What phenomenon of light causes
the blue colour of the sky and the
redding of the sun at sunrise or
sunset ?

(1) Reflection

(2) Refraction

(3) Scattering
(

4) Total internal reflection

The power of a lens is -2:5 D. Its
focal length is

(1) -2-5cm (2) -4D

(3) —-40cm (4) -66'6cm

At focus F and between F and 2F,

a concave mirror always forms a

(1) real, inverted and magnified
image

(2) virtual, erect and magnified
image

(3) wvirtual, inverted and
diminished image

(4) real, erect and diminished
image

NTSE-2019/20-S-1I/0002

[ PHY-1 ]

1.

|t TRt

TAFET H § ®E-A TS =
U0 § ST WH B ASId T@l
HLT ?

(1) I2R (2) IR?

(3) VI 4) VZ2/R

FHA W S 9RT 1 5RT 99T |
SUF AT H I AT @
(1) IR?t 2)
3) I°R¢ (4)

IRt2
I°R%t

YR H HG TS F HROT
T T TT Al T gARg ud
T F g9 gd WY A
BT E ?

(1) WRrEdT
(2) 3TET
(3) RO

(4) TOUT 3T T IRTecH

FG @9 B TAA-2-5 D &1 TR

HIRT X B
(1) -2-5cm (2) -4D

(3) -40cm (4) -66'6cm
FI TITA YT & HihE F W ql
FUE 2F % 9 9T o471 &
(1) dRdasHh, I aqdr  IaErd
gq I
(2) T,
Tq I
(3) T,
gq I
(4) dRdaHh, HET qq  gad
Tq I

YT der AEred

3AT  ddIr 'lEd



[ PHY-2 ] SAT-2

6. What is the magnitude of force F 6. Wwﬂ & BH 9T v § Tl
on a charge g moving with a gam Elﬁ".% 3T qR T F 1 OET
velocity v in a perpendicular a”'ﬁ
magnetic field B ?

m £ e 2
m 2 @ 2 )
(@) quB @ L
(@) quB @
7. agd TEH h FHE Tq wod
ITE §

7. Which of the following is most (1) &
suitable for the core of
electromagnets ? () A T
(1) Air (2) Soft iron (8 ¥
(3) Steel (4) Cu-Ni alloy (4 Cu-Ni #AHI

8. g & 3idfkar TE R ©

(1) CSRMHERA W oG 3Te &
o)

8. Magnetic fields do not interact
with
(1) electric charges at rest (2) T H @ T ST F T

(2) electric charges in motion (3) THHEET | T I o

(3) permanent magnets at rest qea

(4) permanent magnets in motion (4) T HT I TR grlch & g

9. THUYHITT ?
(1) S = Ford x dlee

(2) S = Head [ diee
(3) I =diee / TR
(4) ST = TR/ dice

9. Which of the following is correct ?

(1) joule = coulomb x volt

(2) joule = coulomb / volt
(3) joule = volt / ampere

(4) joule = ampere / volt

NTSE-2019/20-S-1I/0002 5



SAT-2 [ PHY-3]

10. A body can be negatively charged 10. HG UUS H FHU A IG HAT
by el &
(1) giving some protons to it
(2) removing some neutrons (1) =HPT B HICH ST
from it (2) TEH FB I P B

(3) giving electrons to it

(4) removing some electrons (3)  =HRT 2Tl G

from it (4) IHY TO AR Bl BT

11. The resistances R, and R, are . )
11. & YR¥H R, T R, HHAMIK H

IS gU €| WA T qod T e g

connected in parallel. The

equivalent resistance of the

combination is (1) R +R, (2) R -R,
O mrr, Y ORE
. R/R, ) R, +R, 1+ 112
R + R, R|R,

12. U THRR Y ¢

(1) cs7! 2) JC

12. One ampere is synonymous with
(1) cs7! 2) JC

-1 -1
3) Jc! 4) Nc! ) JC (9 NC

13. The ratio of the focal length of 13. TelE FUUT I Hiw @ % |

spherical mirror to its radius of dehdl AT bl HA-JUIA 3
curvature is (1) 05 2) 1
(I) 0O-5 2 1 3) 2 4 3
3 2 (4) 3

NTSE-2019/20-S-1I/0002 6
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SAT-2 [ CHE-1]
Chemistry
14. Fe,0, +2Al - Al, O, + 2Fe 14.

15.

16.

17.

The above reaction is an example

of a
(1) combination reaction

(2) double displacement reaction
(3) decomposition reaction

(

4) displacement reaction

Select the mineral acid from the

following :

(1) Acetic acid

(2) Citric acid

(3) Hydrochloric acid
(4) Lactic acid

Which of the following indicators is

not an acid-base indicator ?
(1) Phenolphthalein

(2) Vanilla

(3) Litmus

(4) Methyl orange

Which of the following methods is

used to obtain chlorine and
hydrogen from sodium chloride ?
1) Electrolysis

(
(2) Thermal heating
(3) Evaporation

(

4) Electroplating

NTSE-2019/20-S-1I/0002

15.

16.

17.

A
Fe,O, +2Al > AL, O, +2Fe
IW I T AARI HH TR
HE 2
(1) HINH 3T T
(2) F IR 3T 9 AT
(3) TS 3T SHAT
(4) SIS 3T 9 AT
TH H G TS A Al g
(1) THZTH A
(2) WETF I
(3) ETEGIA Th 3T
(4) e o7t
T9 § § ®F TH gah -8R
o Tel & ?
(1) SACHIAN
(2) o
(3) TieHd
(4) HATES AT
T9 H ¥ HG TY B T W

WEIT FoIREE 9§ TN aA

EIZSIST 1T ST € 2
(1) ©fEld TqEc
(2) SO A

(3) o

(4) o o



18.

19.

20.

21.

22.

[ CHE-2]

Which of the following metals does
not react with dilute hydrochloric
acid to liberate hydrogen gas ?

(1) Calcium (2)
(3) Iron (4)

Zinc

Silver

Which of the following reactions is
not a redox reaction ?

(1) Mg+Cl, »> MgCl,

(2) CuO+H, » Cu+H,0

(3) AgNO; +NaCl— AgCl+NaNQ,
(4) MnO, +4HCl -

MnCl2 + 2H20 + 2C12

In Aqua regia the ratio of
concentrated HCl to concentrated

HNO, is

(1) 1:3 2 3:1
3 1:2 4 2:1
Ethane, with the molecular

formula C2H6 has

(1) 6 covalent bonds
(2) 7 covalent bonds
(3) 8 covalent bonds
(4) 9 covalent bonds

Glacial acetic acid is

(1) an aqueous
alcohol

solution of

(2) vinegar

(3) an aqueous solution of acetic
acid

(4) 100% pure ethanoic acid

NTSE-2019/20-S-1I/0002

18.

19.

20.

21.

22.

SAT-2

T9 U ¥ FF UG O SRSl W
A AT FTFIT FERGSHA
T T IS T&l HIAT § 2

(1) et IEH (2)
(3) < (4)

STEAT

&

T 0 9 HE-E TR T
3T AT T & ?
(1) Mg+ Cl, » MgCl,
(2) CuO+H, - Cu+H,0
(3) AgNO; +NaCl— AgCl+NaNQ,
(4) MnO, +4HCl—

MnCl, +2H,0 +2Cl,

Ul IS W O9iE HCL % 9 95

HNO, ¥l 31 §
(1) 1:3 @ 3:1
(3) 1:2 4 2:1

3T FA C,H AT 4 T &

(1) 6 FEgaSTH &g
(2) 7 GeEANSTE A&y
(3) 8 WETANTH &g
(4) 9 EHASTH ITeY

o I T T A §

(1) TChIBTA H TAT TAT

(2) I

(3) THITH 37T HT STl ToToH
(4)  100% I[F TR 3TA



SAT-2

23.

24.

25.

26.

[ CHE-3]

Which of the following is a non- 23.

metal and also a solid ?
(1) Iodine (2) Mercury
(3) Boron (4) Hydrogen
Propane has

(1) 8 covalent bonds

(2) 9 covalent bonds

(3) 10 covalent bonds

(4) 11 covalent bonds

An
configuration 2, 8, 8, 1. Which
statement is not correct about the
element ?

element has

(1) It is present in group 3
(2) Its valency is one negative
(3) Itis presentin group 1

(4) Itis present in 4th period

26.

The property by which a large
number of atoms of the same
element get linked through
covalent bonds forming long
chains is called

(1) catenation
(2) polymerisation
(3) allotropy

(4) addition reaction

NTSE-2019/20-S-1I/0002 10

24.

electronic 25.

T H 9 HHF TS EN ad 39
e

(1) 3RS (2)
(3) R

ara

(4) BIEGSH

IO T

(1) 8 TedaNTH Tee
(2) 9 FEHANTH ey
(3) 10 TEHANTH T
(4) 11 TEEASTH Y

Teh T ol TR o919 2, 8,
8, 1%l 39 dd & IR H HI-9I
FIT TEl & ¢ ?

(1) &8 q7 3§ Iufedd &

(2) THB! HASTHAT Th FOTHS &
(3) T YT 1Y U &

(4) & T e H SURYT

98 o ST ST Uh @ ol i
g T H WHV] T WY AT
AN oTEY % Oy ¥ ot

SGEAT T &, FeATd &

(1) HAE

(2) UTAERESY
(3) Ueem

(4) TIST T T HAT



SAT-2
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SAT-2 [ BIO-1]
Biology
27. Saliva contains an enzyme called 27.
(1) Amylase (2) Lypase
(3) Pepsin (4) Tripsin

28.

29.

30.

31.

32.

Regulation of respiration is under
the control of

(1) Cerebrum

(2) Cerebellum

(3) Medula oblongata

(4) Pons

Embryo sac is found in
(1) endosperm (2)
(3) ovule (4)

embryo

seed

A pair of contrasting characters is
called

(1) phenotype (2)
(3) allele (4)

genotype

gene

Which of the following is not used
as biomass ?

(1) Plant waste

(2) Wood

(3) Animal waste

(

4) Human excreta

The green plants in a terrestrial
ecosystem capture the energy of
the sun about

(1) 90% (2)
B) 70% 4)

80%
10%

NTSE-2019/20-S-1I/0002
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28.

29.

30.

31.

32.

Sa- ane
AR W TH FHuas wdl g S
FEATT &
(1) TR (9)
(3) ufeE )

AU
ZfegT

A

STT o TIHA hT qIAAUT HAT &
(1) vHRTS=h
(2) STAfTSH

(3) HGAT SATTAIL

-~

(4) ¥

YUTShIN 7T STl &

(1) PEeH (2 YU H

(3) e H 4) = H
TN TTEI0T h Teh ST hearl &
(1) WIHEET (2) SHHIETET
(3) T (4) =

T H ¥ HEHT TG IEEE H @l
TATE ?

(1) URY a9
(2) RS
(3) S T

(4) HIHET Hed-HA

FA Wl IR TR d B u
I B FOM H T

...........

TUETT T & |
(1) 90% (2) 80%
(3) 70% ) 10%



[ BIO-2] SAT-2

33. The presence of which 33. MM o ST H %9 q\g@;ﬁﬁ =l

microorganism in Ganga water
8 8 3R T FgHOT I G AT FIAT§ ?

indicates contamination ?

1) K" JeAd dF AT
(1) Lactobacillus bacteria (1)

(2) Amoeba (2) 3T
(3) Coliform bacteria (3) I ARM S T
(4) Mucor spores 4) TR aﬁa-rul

34. In which part of the alimentary 34 A F T A H A A

canal digested food is absorbed ? T HERTOT @Fﬂ % ?
(1) Stomach (1) SAHRE™

(2) Appendix (2) I TR

(3) Large intestine (3) W

(4) Small intestine (@) W

35. Which of the following is a plant 35. T U ¥ HiT U €T e § ?

hormone ? 1) Wﬁq
(1) Insulin @) i
(2) Thyroxine

(3) WHISH
(3) Oestrogen

(4) HESERRE T

(4) Cytokinin

36. YIhUT &bl IHIR °h{('1r\| %
36. Pollen grains are produced by

(1) ovary W
(2) petal @) e
(3) seed (8 =t
(4) anther 4) TR

NTSE-2019/20-S-1I/0002 13



SAT-2

[ BIO-3]
37. Chromosomes are made up of 37. TURE T B %
(1) proteins 1) T D
(2) DNA
(2 ST
(3) both (1) and (2) )
@ RNA (@) (1) 3 (2) T
(4) T H

38.

39.

The non-renewable source of

energy amongst the following is
(1) coal energy

(2) nuclear energy
(3) wood

(

4) wind energy

The structure formed by the union
of male and female gametes is

termed as
(1) embryo
(2) morula
(3) zygote

(

4) placenta

40. The three R's to save the
environment are
(1) Reserve, Reduce, Recycle
(2) Reuse, Reserve, Reduce
(3) Reserve, Reuse, Reduce
(4) Reduce, Recycle, Reuse
NTSE-2019/20-S-1I/0002
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38.

T H G -0 e 9id ©

(1) ST ol
(2) T IHET Sl
(3) TS

(4) HaT ol

39. TR UH HIET JTHHI & TASH §RT

. n
G FHEATdl ©

(1) 9o

(2) HIET
(3) ST
(4) =T

40. TATEROT T TRETOT & o R &

(1) @, (&9, THE F

2) T, T, ISI4

(3) W@, T, TS
4) TSgd, WWE S, T
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SAT-2 [ MTH-1 ]
Mathematics
41. T iS 41.

42.

43.

44.

45.

46.

(1) an irrational number
(2) a rational number
(3) a prime number

(4) a composite number

The value of p(x)=x2—3x—4 at

x=-11is
(1) 1 (2) —4
3) O 4 -3

The solution of the equations

(1) x=a,y=>b
2) x=-a,y=-b
B x=a,y=-b
4 x=-a,y=b
The height of an equilateral
triangle of side a is
n 3 (@) a3
a3 av3
@ 2 @ =2

If secH + tan6 =m and
secO —tan0 = n, then the value

of mnis
(1) 2 2 1
B) =1 4 =z2

The mean of first ten odd natural
numbers is

(1) 5 (2) 10

(3) 20 4 19
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42.

43.

44,

45.

46.

T
TC%
(1) TS 39 I F=
(2) TH 9T FE&A
(3) Weh 3THST H&AT
(4) TH T T

p(x)=x2—3x—4 9l HF x=-1
W E

(1) 1 (2) -4

3) O 4) -3
GHRIoT

x Y _

E+E—2

T g H TH GEAE AT Hl
ERIER
1 3 (2 a3
a3 aﬁ
@ 4 4 B2
qT secO+tan®=m dAT

sec@—tan6=n,ﬁ)f mnwtﬂ:f%
(1) 2 2 1
3) =+£1 4 =x2

TEell 39 99 Wihde &S

e €
(1) 5 (2) 10
(3) 20 (4) 19



47.

48.

49.

50.

S1.

[ MTH-2 |

The solution of the

equations
x+y=14
x-y=4

is

(1)
(2)
(3)
(4)

Sum of the first n terms of the 48.

series \/§+\/§+\/ﬁ+... is

n(n+1)

1) —5— @ J2n

n(n+1
@ 2D @

2

The area of the triangle whose 49
vertices are ( 0, 0 ), ( a, O ) and )
(0, b)is
(1) ab 2) -éab
3) a+b 4) a®+b?
If the shadow of 10 m high tree is
10/3m, then the angle of 50.
elevation of sun is
(1) 60° (2) 90°
(3) 45° (4) 30°
In the following figure, the 51

measure of ZPBA is

A
'p
B

(1) 60°

(2) 30°

(3) 45°

(

4) none of these

NTSE-2019/20-S-1I/0002 17

pair of 47

SAT-2

T HIIOT % I HT gl ET

x+y=14
x-y=4
(1) x=9,y=5
2) x=5,y=9
B x=9,y=9
4 x=5,y=5

@Tﬁ J§+J§+Jﬁ+...é?nqﬁao‘r

e &

m 2t g 3

@) % @ 1

T 59k Y (0, 0), (@ O ) A
(0, b) &, T &TFHA &

(1) ab 2) -%ab

3) a+b 4) a®+b?

IT 10 m AT ThH US HI DAT

10V3 m & @ gd T 37T T ©
(1) 60° (2) 90°
(3) 45° (4) 30°

T H /PBA I HIT &

A
'p
B

(1) 60°

2) 30°

(3) 45°

(4) T 9 HIE T8I



SAT-2

52.

53.

54.

55.

A segment AB is divided at a point
PB _ 3

AB T’
ratio of AP: PBis

(1) 4:7 2 7:4
B 7:3 4 4:3

P such that then the

A square is circumscribing a circle.
The side of the square is 14 cm.
The area of the

square not

included in the circle is

<14 cm>
(1) 21 cm? (2) 42 cm?
(3) 48 cm? (4) 196 cm?

By melting a solid sphere of radius
S cm a solid right circular cone of
the same circular base is made.
The height of the cone is

(I) 20 cm (2) 10cm

(3) Scm 4) 12 cm

Two friends were born in the year
2000. The probability that they

have the same birth date is

1 2
(1) 2000 () 365
T = 4) 5=

NTSE-2019/20-S-1I/0002
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[ MTH-3 ]

52.

53.

54.

55.

FE TWETE p 5 W T FJHTSA

W%$%:%,ﬁAP:PBW
U &

(1) 4:7 2 7:4

3 7:3 @) 4:3

TH O UF o I T Hal |
T H T 14 cm 8| I9 H IO

&I & UET o o 3 BT SR ©
<14 cm->»

(1) 21 cm? (2) 42 cm?

(3) 48 cm? (4) 196 cm?

5 cm IIT 91T Ueh 3 AT ohi
Uil d{d Cﬂ‘dﬂlq STYN vl TUeh

3 TG Sigp ST AT | ¥ h
S §

(1) 20 cm 2)
(3) Scm (4)

10 cm

12 cm

T TT T 2000 H UF & I FH
| IR S0 dT TH & e Hl
T IRl &

1 2
(1) 2000 () 365
T = @) ==



56.

57.

58.

59.

60.

[ MTH-4 ]
If 3x+y =10 and y =4, then the 56
value of xis
(1) © 2) 1
3) 2 4 3
sin 0
1+ cos0
0 1 0 ST
cos — Cos
(1) 1-sin0 ) sin®
1-sin6 1-cos6
) cos0 ) 1+ cos0
The area swept out by a horse tied

in a rectangular grass field with a

rope 8 m long is

(1) 167w m?2 (2) 64n1m?

(3) 48mnm? (4) 32nm?

A tree breaks into two parts due to
heavy wind such that the upper
part makes an angle of 30° with
the plane. The place where the
upper part of the tree touches the
ground is at a distance of 10 m
from the base point of the tree. The
height of the tree is

(1) 10/3m (2) 102 m
10
(3) ;5™ 4) 5vV2 m

60.

If the perimeter and the area of a
circle are equal numerically, then
the diameter of the circle is

(1) 2 units (2)
(3) 4 units (4)

T units

7 units
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58.

59.

SAT-2

qT 3x+y=10 AT y=4, al x H

A E
(1) O 2 1
3) 2 4 3
sino
1+ cosO
cos 0 1—cos0
(1) 1-sin® () sin 0
1-sin® 1-cos0O
3) cos 0 (4) 1+ cos0

8§ W ot WA 9 UH =Sl Hl
IATHR O19 o e § S 747 2
3T FRT ST T HSH o 3197 i

SHe BT
(1) 167w m?2 (2) 64nm?2
(3) 48nm? (4) 327nm?2

a5 g1 % HRU TH U I 9N H
Y 22 ST & a1 SO AN gHd
% WL 30° FT HIO SACT &1
STTE U 1 HORI 6T STHA Sl
T 98 U W AUR I ¥ 10 W

W T IS B HUE §

(1) 103 m (2) 1042 m
10

(3) 7 m 4) 5J2 m

IT HAN I T TIET qAT SAGRA
Tifegss ¥ ¥ RER €, o g &
= €

(1) 2% b)
(3) 4ThE 4)

n TS
7 TS
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SAT-2 [ HIS-1]
History
61. Who was responsible for the 61
unification of Germany ?
(1) Bismarck (2) Garibaldi
(3) Cavour (4) Mazzini

62.

63.

64.

65.

66.

67.

Printing press first came to India
with

(1) the English

(2) the French

(3) the Dutch

(4) Portuguese missionaries

Champaran Satyagraha (1916)
was launched by Gandhiji against

(1) high revenue demands
(2) indigo planters

(3) mill owners

(4) salt tax

Which of the following emerged as
the centre of world trade in the
18th century ?

(1) Europe 2)
(3) China 4)
Which of the following ports lost its
importance under colonial rule ?
(1) Calcutta (2) Bombay

(3) Surat (4) Madras

The first Factories Act, to help
keep children out of industrial
work was passed in

India
America

(1) 1870 (2) 1902

(3) 1906 (4) 1912

For which of the following reasons

was the Simon Commission

boycotted ?

(1) It supported the Muslim
League

(2) It did not recognise Congress
as a party

(3) There was no Indian in the
Commission

(4) There were differences among
the members

NTSE-2019/20-S-1I/0002
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62.

63.

64.

65.

66.

67.

g de™

SO % UHIHOT I IR
HAE ?

(1) EH (2) TRl
(3) R (4) HUSHI
e AR H T o o
(1) STUST g

(2) IR

(3) T NI

(4) AR I I gR

TS §RT THROT 9AE (1916)
AT AT

(1) =9 RGBT &6 a5

(2) T INTH HITh o oG

(3) A HIAH & 65

(4) THE T FH T6F

T H ¥ HEH 18 o T&l H a9
SR & %% o &9 H 399 31 ?

(1) T (2) WRd
(3) = (4)  3TH THT

T § 9 HH-91 §5UTE 39 7 36
YT & SR 39T Hecd Gi 93T ?
(1) hotshal (2) TS

(3) Wd (4) Hs™E

Tl  HREHET  HAYTEH  SEH
RN TR HHES § Tedil B T
TG W 3 g TIH qIA gaT o
(1) 1870H (2) 1902
(3) 1906 H (4) 19127H

TEH HHRE % TEHR B BT

TAAET H d B 9T ?

(1) ¥€ YReTd ST i qHeT e
o

(2) TE PUT P TH UET & &7 H
TEI AT o

(3) =9 HHH H hIT YA T&l o

(4) THP TS H TN o



68.

69.

70.

71.

72.

73.

74.

75.

[ HIS-2 ]

Munshi Premchand wrote on
which of the following themes ?
(1) Religious and Mythological
(2) Oppression in society

(3) Historical

(4) Detective and mystery
Akbar's court poet was

(1) Tulsidas

(2) Abdur Rahim Khan Khana
(3) Amir Khusro

(4) Tukaram

Which of the following was

the reason for calling off the

Non-Cooperation Movement by

Gandhiji ?

(1) High pressure from the
British government

(2) Round Table Conference

(3) Gandhiji's arrest

(4) The Chauri Chaura incident

Which Sikh guru was executed by

Aurangzeb ?

(1) Tegh Bahadur
(2) Arjun Dev

(3) Hargobind

(4) Govind Singh
Where was the first Cotton Mill set
up in India ?

(1) Ahmedabad (2)
(3) Mumbai (4)

Kanpur
Madras

Which Mughal king died by a
sudden fall from the staircase ?

(1) Babur

(2) Akbar

(3) Jahangir

(4) Humayun

Which of the following newspapers
was started by Bal Gangadhar
Tilak ?

(1) Kesari

(2) Jansatta

(3) The Statesman

(4) Amrita Bazar Patrika

Which king started the
organization of Kumbh fair at
Allahabad ?

(1) Harshavardhana

(2) Dhruvasena II

(3) Narsimhavarnam

(4) Akbar
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68.

69.

70.

71.

72.

73.

74.

75.

SAT-2
TR 99 H 9 HE 99T 9
Hsﬁw ]

(1) aﬁquﬁnw
(2) TES H 3cdied
(3) UTRIHH

(4) WWW

3The h qwuu FIT Y

(1)

(2) iﬁéﬂ@m@m

3)

(4)

T= ﬁ ¥ HH TH TS g
TSN SEAT 9T = Bl HROT
o1

(1) STV AR § 3= T

(2) TS goier

(3)

(4) TRI-ERT T

TS §RT Y TG 6 I HBidl
T3 T 7

(1) ﬁﬂw

(3) ‘_"'—c\r

(4) [

T ﬁ ‘4‘6('“ gl BT S T
FEl EE ?

(1) SEHRER  (2) HEAR

(3) e (4) HEE

FY T T H1 A TS die!
T HEGHRT T3 T ?

(1) oY (2) AP
(3) TR (4) &
A TMER Tefsh gRT oedrar T

TR A H 9 HiA 9T ?

(1)

(2) STET

(3) ¥ WIHHA

(4) 3T ISR T

Y T[T A TARER | T“” HAT
TS ,

I IHITT i ?
(
(2) FIEATI
(
(




SAT-2

Geography

76.

77.

78.

79.

80.

81.

What per cent area of the whole
country does mountain occupy ?

(1) 27%

(2) 43%
(3) 30%
(4) 50%
Which wildlife is protected by the
villagers of Bishnoi village in

Rajasthan ?
(1) Chinkara (2)
(3) Tiger 4)

The system of agriculture when a
single crop is grown on a large
area is termed as

Elephant

Lion

(1) shifting agriculture
(2) horticulture
(3) intensive agriculture

(4) plantation agriculture

Which is called the 'Queen of
Arabian Sea' ?

(1) Venice

(2) Kochin

(3) Surat

(4) Lakshadwip

Which one of the following

agencies markets steel for the
public sector plants ?

(1) HAIL (2) TATA steel
(3) SAIL (4) MNCC

Which two of the following extreme
locations are connected by the
east-west corridor ?

(1) Mumbai and Kolkata
(2) Mumbai and Nagpur
(3) Nagpur and Siliguri

(4) Silchar and Porbandar

NTSE-2019/20-S-1I/0002
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76.

77.

78.

79.

80.

81.

et

I FT AT T I 9T Tad & =

TIME ?
(1) 27%
(2) 43%
(3) 30%
(4) 50%

T IE § 99 g % Een |
G T WO T TIETT HAT ?

(1) ==pRT (2) el

(3) = (4) IR
FY H g YU STH T 9
g9 H TP & ®HA I Sl ¢
FHEAT &

(1) FAFT (2 FEE

3) TAFH (4) AT F
‘RT WIR H T FY FE
S ?

(1) aT9

(2) e

@) ¥

(4) TRTEI

T H ¥ i TS T 6
AU HIeST Ik &1 H AT € 2
(1) HAIL (2) 2R &
(3) SAIL (4) MNCC
T9 H ¥ ®F I TaH I B

R-UfSH TAAR] @ Sear § ?
(1) IS TAT SHicTehT]

(2) T qAT AR

(3) TR T AR

(4) TTOTER TUT UREER




82.

83.

84.

85.

86.

[ GEO-2]
Which is not the soil conservation 8.
method ?
(1) Contour planning
(2) Strip cropping
(3) Terracing of slopes
(4) Shelter belts
Species found in isolated places 83.
only are called
(1) normal species
(2) endemic species
(3) wvulnerable species
(4) rare species
Which of the following is not the 84.

purpose that modern dams serve ?
(1) Generation of hydroelectricity
(2) Industrial use

(3) Irrigation

(4) Inland navigation

Rearing of silkworms
production of silk fibre is called

(1) interculture
(2) sericulture
(3) horticulture

(4) pisciculture

Which one of the following
minerals is formed due to 86.
evaporation ?

(1) Chalk
(2) Silica
(3) Petroleum

4) Gypsum
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for 85.

SAT-2

T H ¥ BE UH G W aY
TIE ?
(1) THr=d 9 THeaT

(2) USRR T-3hY
(3) M bl Higr
(4) Y&tk TGN

el IHTH SRl H U ST arelt
TSI T e &

(1) QE= w=Ta

(2) TITTEH USTA

(3) ST & WA

(4) AU

T H 9 ®F UH Y AR Al H
3T Tl § ?

(1) SToT TTEd o 3G

(2) 3T TR WA

() e

(4) ST e

WY dq & IR &G WHRE H
T HEATT &

(1) ={hedl

(2) TIHER

(3) @ifeahoarR

(4) TdHTER

T9 H 9 HEA-G T a9E H
FROT T & ?

(1) ©

2) TR

(3) ugioE™

(4) SR



SAT-2 [ GEO-3]
87. Which one of the following 87
minerals is not used in making
cement ?
(1) Coal
(2) Silica
(3) Aluminium
(4) Copper
88. Which one of the {following
countries imports iron ore from 38
India ? '
(1) USA (2) Japan
(3) Russia (4) China
89. Which one of the following is a
riverine port ?
(1) Kolkata 89.
(2) Mumbai
(3) Kandla
(4) Vishakhapatnam
90. The place of India in respect of rice 90
cultivation is '
(1) first (2) second
(3) third (4) fourth

didue IAR_T B UgE A gHare
lcEE R

(1) hiFer

(2) @R

(3) TIHTIH
(4) e

IRd 9 e SHAdeh AHlHld epd(el

JWE

(1) I (2) S

(3) ®4 (4) ==
T | ¥ FF Teh A5adg U9 § ?
(1) lTHET (2 T

(3) whiga (4) CRIMEGEH
el & Wl § AR Sl 4 &

(1) el (2)
(3) e (4)

T
=t

For Rough Work Only

(FaeT AYUT HTE & )
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[ CIV-1]

Civics
91. Which of the following are the two 91.

Ethnic groups in Sri Lanka ?

(1) Hindus and Muslims

(2) Sinhalese and Tamils

(3) Muslims and Cristians

(4) Christians and Tamils
92. The number of subjects given in 92.

Union List is

(1) 47 (2) 66

(3) 85 (4) 97

. | Y 93.

93. The policy of 'Apartheid' was

adopted by the government of

(1) U.S.A.

(2) South Africa

(3) India

(4) England
94. Untouchability has been abolished 94.

95.

in India by which of the following
articles of the Constitution of

India ?

(1) Article 14 (2) Article 15

(3) Article 16 (4) Article 17
Democracy was re-established in 95.
Nepal in

(I) 2005 (2) 2006

(3) 2007 (4) 2008
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SAT-2

AT ¥R IAMA

sficiehT o T ST THE €

(1) g T giem
2) T&gelt qer aue

(3) TR qAT 3T
(4) TS aAT T HA

FEE G A I M awA i
et

(1) 47 (2) 66

(3) 85 4) 97

‘T’ W AT WER A
SUART o7 ?

(1) JL&T

(2) T &TUT STRIHT
(3) HRd

(4) Feivg

IRA T STl 1 3o IR

WauE & Y AT H ded HAl

T 2

(1) FTWT14  (2) IATHT 15
(3) FT®I16 (4 IS8 17
AT § AR Sl I g8 T
(1) 2005H (2) 2006H

(3) 2007 H (4) 2008 H



SAT-2 [ ECO-1]
Economics
96. Average income is 96.

97.

98.

99.

100.

(1)

Toal National Income /
Population of the country

(2) Per Capita Income / Total
National Income

(3) National Wealth / Per person
of the country

(4) National Capital / National

Budget

Tertiary Sector has become an

important part of Indian economy

on account of

(1) development
and industry

of agriculture

(2) rise in levels of income
(3) both (1) and (2)
(4) none of these

The main function of Reserve Bank
of India is

(1) providing loans

(2) credit control

(3) dealing with World bank
(4) none of these

MNC is a company

(1) that owns or controls
production in more than one
nation

(2) that owns or controls
production in one nation

(3) that owns or controls
production outside the nation

(4) all of these

Which of the following does not fall
under consumer rights ?
(1) Right to be informed

(2) Right to choose
(3) Right to seek government help
(4) Right to represent in the
consumer courts
NTSE-2019/20-S-1I/0002
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97.

98.

99.

100.

SR )
3frEd 3g
(1) F ILE dF /W K
ST
(2) TTAA® AT / Fol TLT 3™
(3) UL HUT / I &H Ud ATH

(4) TEE ST/ U e

TRAT STl § Jaas & U
TEcAqUT 3797 I AT, THROT
(1) FY T AT H T

(2) T TR | TG

(3) (1) 7T (2) T

(4) T 9 P TR

IRAE 579 S T TG HE €

(1) O =T TTeE

(2) W& TFF0

(3) o S % TIY AR

(4) 9 ¥ BIE Tl

MNC e €

(1) ST UF T JYH T & IR
& AT A AT TR

(2) S UH T L F IARA &
A oTF A T49H

(3) Y & T IURT & AT &1
EPEC

(4) 9 @ B Tl

T OH W HH IUHE AGRR &
ST T € 2
(1) FEAT % 3 g

(2) UEE A & 3 YFR
(3) TIHRI HEE HFH I 3T 4R
(4) SUARAT R B AAGT HA

Sl 3 ghX
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[ M-1] MAT-1

Mental Ability Test gk AIAT aReT
MENTAL ABILITY TEST
1. Choose the odd one :
T H 99 T ¢
(1)  Patna (920) (2)  Shimla ( ITHeT)
(3)  Bhopal () (4)  Uijain (35917)

Which alternative replaces the question mark ?
HIT-TT Thed U9 T2 (?) T e A ?
45, 34, 25, 18, ?

(1) 11 2) 12 (3) 13 4) 14
2 13_ 4_3__ _ _ 32413
(1) 213421 (2) 421241 (3) 241321 (4) 123421

What will come in place of question mark ( ?)

TR TeT (?) % T W R TR ?

ECA, JHF, OMK, ?

(1) LNP (2) RPT (3) QPN (4) TRP

How many meaningful two-lettered English words can be made by taking letters
from the later half of the English alphabet ?

ST SUTHTCT o TEY 39 AN § JF &R 1 STAN FIh o & &R & 3T

JUS I8 AT ST Fehd & 2
ABCDEFGHIJKLMNOPQRSTUVWXYZ

(1) One (Th) (2) Two (3N
(3) Three (FﬁT-[) (4) More than three (T‘ﬁq Ee) 31 9h )

Some letters are given with numbers 1 to 7. Choose the order of the letters by
which a meaningful English word can be made :

FT MR 1YW 7 A F W D W E| G & 39 FH A JAC A R H
T G 3TN 9 & B § A il €

S OUBRCE

12 34 5617

(1) 4216573 (2) 2416537 (3) 2146357 (4) 2416357
Which of the following letters will come in place of question mark ( ? ) in the
chain of letters of English alphabet ?

e TF T TS FUHIGT % TR WHE H J@e ° U w6 (?2) F WH W A

T ¥ HH-91 31ER g 3T A8 ?
BZA DYC FXE ? JVI
(1) HUG (2) UHG (3) HWG (4) WHG
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MAT-1

8.

10.

11.

12.

13.

[ M-2]

Choose the word from the following alternatives which cannot be made with the
letters of the given word :

TAAEA ghedl H ¥ 98 K AU S I T IR & &R BT AN Fh Tl

o1 ST HehdT -

COMPREHENSION
(1) COMPRISE (2) PENSION (3) ONION (4) PREACH
Choose the alternative which will complete the following sequence :

39 WEl Fhed i G S STHH I R BT

ZXUQL ?

(1) F (2 E @) C (4) H

In a code language CENTRAL is written as LARTNEC then in that language what
will be written for SEMINAR ?

Teh Shig 9INT H CENTRAL Sl LARTNEC 1@l Sl &, df 39 99T § SEMINAR !

FY YHR o1l JIR— 2

(1) NARMES (2) MESIRAN (3) RANIMES (4) NARISEM
By using the letters of the word 'AIPR' only once how many meaningful English
words can be made ?

I 'AIPR' & U 3R I haol Uk IR TN Hih 31UST & ha- 1&q0T 915
S ST Hehd & 2

(1) One (TH) (2) Two (30

(3) Three (TF) (4) Four (IN)

In the given question if the letters of the word are rearranged then comes the
name of one of which of the following alternatives ?

T U H T I % SR hl YA AT ST A U8 ghedl § ¥ Y Th

T A SR 2

LORAMIGD

(1) Bird (2) Animal
(3) Tree (4) Flower

By using the letters of '"ADER' only once how many meaningful English words
can be made ?

I 'ADER' % 3eRI ¥ i Y] TS I TR ST Tl &, S F T 38R
el Teh I TG A1 € 2

(1) One (TH) (2) Two (1)

(3) Three (AF) (4) Four (IN)
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14.

15.

16.

17.

18.

19.

20.

If in a code language HANUMAN is written as MFSZRFS, then what will BINAY
be written in that code language ?

TT HA HIS AN H§ HANUMAN I MFSZRFS @l ST &, df SO hig oon |

BINAY Sl ST o7l SIR—TT 2

(1) GSNTD (2) GNSFD (3) GSNDT (4) GNSDT

If in a code language MOTHER is written as OQVJGT, then what way SISTER
will be written ?

AT ik deh 99T § MOTHER & OQVJGT ofal TN, o SISTER &l T @l
ST ?

(1) CJUVGT (2) TJTUFS (3) TJTUES (4) UKUVGT

If in a code language A is written as 2, B is written as 4 and C is written as 6,
then in that language 12 10 10 8 will be written as

Tg HAl Hichdh T H A H 2, B Hl 4 991 C Hl 6 oGl W o 34T 91 H
12 10 10 8 TGh oIF @l ST ?
(1) DEEP (2) DOOR (3) DEAF (4) FEED

In a symbolic language POCKET is written as QNDJFS, then in that language
what will DEAR be written ?

AT Fich Tk 9T § POCKET ! QNDJFS 1@l ST ¢, o SO Tich dh oo H

DEAR Sl RIT o1l ST ?
(1) EDBQ (2) CFBQ (3) EDCQ (4) EFDQ

In a code language CHAIR is written as EGCHT, then in that language PROVE
will be written as

AT Gich Tk 9N H CHAIR & EGCHT ol Sl &, a 39 gish s 9or o
PROVE Sl 1@l SR

(1) NSNXD (2) RPPVG (3) NRNUD (4) RQQUG

As 'Warrior' is related to 'battlefield' in the same way to what is 'Steward'
related ?

ST YR ‘gt Wl O € YA’ F, 3 3q UBR Lae’ HOd G U € ?

(1) Shop (W) (2) Restaurant (W)
(3) Stage (H9) (4) Garage (TR=0)

As 'white pigeon' is related to 'peace’, in the same way 'black colour' is related to
which of the following ?

ST YR THS R, ‘WA’ G Te G §, I YPR Hlel T FHIY G o € ?

(1) Hospital (3T¥dTeT) (2) Power (ITH)
(3) Sorrow (ITR) (4) Bravery (I)
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MAT-1 [ M-4]

21.

22.

23.

24.

25.

26.

27.

As 'Chicago' is related to America, in the same way 'Sydney' is related to
T TN AT G U € 3T Th 9, SO YRR C HeAl e e Ud € ?
(1) Egypt (79) (2) Australia (3% &)

(3) India (¥R) (4) England (3”@_5')

As the 'Publisher’ is related to 'Book’, in the same way 'Film' is related to
ST YR ‘WO, ‘q%deh’ O e U €, 39 UPR  Hed’ HEd G ud § ?
(1) Director (:ﬁ'?liﬁ) (2) Actor (3 ‘lﬁﬁT)

(3) Producer (:I'qSR"‘IT) (4) Hero (A1)

As 'Lotus' is related to 'India’, in the same way 'Great Britain' is related to
‘FHA T THER ARG’ W T G 7, I TR ‘T 7' FHEY G YA © ?
(1) Jasmine (ﬂ'ﬁ?ﬁ) (2) Rose (W)

(3) Chrysanthemum (TeIRISET) (4) White Lily (F%g i)

Tripura : Agartala : : Mizoram : ?

TR : IRAAT : : FHIRH : 2
(1) Aizawl (ﬂ'l'&?ﬁ?’f) (2) Imphal (SFRTE)
(3) Kavaratti (Eh—la'l'{?ﬁ) (4) Silvassa ( HeTdT )

Rohu : Fish : : Bat : ?

g : TS : : TERS ¢ ?

(1) Amphibian (3¥F=R) (2) Reptile (TGT)

(3) Mammal (qﬁqqre:ﬁ) (4) Aquatic (SToT=R)
Thermometer : Temperature : : Lactometer : ?

(1) Purity of curd (2) Purity of milk

(3) Purity of water (4) Atmospheric pressure
qHMEER : TTIHM : @ ERIHIE ¢ ?

(1) 3@ = I (2) 39 FEAT

(3) ST Wl Y& (4) o T

Shyam is son of Ram and maternal brother of Jadu, then how is Ram related to
Jadu ?

(1) Paternal uncle (2) Maternal uncle

(3) Father (4) Maternal grandfather
T, TH A § AR I3 H AT AE, @ TH, TG H B S 2

(1) ==t (2) AH

(8) Gdr (4) T
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28.

29.

30.

31.

32.

33.

34.

[ M-5] MAT-1

In a marriage reception, pointing to a lady a man said, 'That lady is the only
daughter of the father-in-law of my eldest paternal brother'. What is the relation
of that man with the lady ?

(1) Husband's younger brother (2) Brother

(3) Nephew (4) Father

U JdE TORE § Uh HEel i 3 TWRT Fd U Uk A H 2 Ja™l & o8 T gell
T TR I WIS o TG P goheAld! 92 &1 ST AT Hl 3T AEAT ¥ 1 Gy € 2

(1) IN 2 W

(3) T (4) T

Second : Time : : Pascal : ?

(1) Resistance (2) Ilumination
(3) Potential (4) Pressure

qohUs : 9HY : : g&hed @ 2

(1) XT&hdl (2) I

(3) d@Hd (4) <

Bis the sister of A and Cis the mother of B. How is C related to A ?
(1) Mother (2) Father

(3) Maternal aunt (4) Maternal grandmother
AR TEABEAN BH A CE, A CAY FHUFL Ga4q & ?

(1) ot (2) Udr

(3) T (4) T

Following the pattern of the following letter series fill in the blank space :

T 3TeR-H0M o U I STEOT Y TH W H g N

(1) v (2) mw 3) nx (4) oe
What will come next in series ?

T | 1S el 27eR” T BN 2

D,HL,P, ...
(1) Q (2 S ) U 4 T
10J, 13M, 17Q, 20T, ..........

(1) 24X (2) 25Y (3) 262 (4) 23V

Telephone : Graham Bell : : Electric Bulb : ?
SR © TR ot © @ agd ood 2

(1) J.L. Baird (3. TeT. 99)

(2) Thomas Alva Edison (JHTH 37edl T SHA)
(3) James Watt (S=g T1e)

(4) G. Marconi (STt ATRIA)
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MAT-1 [ M-6]

Q: 35-40 In each of the following questions a group of three pictures are given.

35.

36.

37.

38.

39.

40.

41.

You have to find out the fourth picture. You have to select the answer
from 1, 2, 3 or 4 :

TS U9 W o TS S T SO SF g2 §, STUh! UAT NI € Gy o
FMEMITH 1,2, 3T 4T T T8

[T ]eecO | [{{]11 feecoionos
A B C D ? 1 2 3 4
CH O | S0 e
A B C D ? 1 2 3 4
7 77 — 7

2 %/A D | %@
A B C D ? 1 2 3 4
CN| N D CNCDrN D
[\ |\ \_/ |\
A B C D ? 1 2 3 4
b~ | et
A B C D ? 1 2 3 4
/ N/

N Z ] N /
A B C D ? 1 2 3 4

If in a code language LPPHGLDWH is written as IMMEDIATE then
WRSVHFUHW will be written as

I HE Gich Ik YT § LPPHGLDWH %l IMMEDIATE §RT 1@l Sl & df 98

WRSVHFUHW &l &9 YR @l ST ?

(1) YUVKIXKY (2) FAITHFUL (3) TOPSBRASS (4) TOPSECRET
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42,

43.

44,

45.

46.

47.

48.

[ M-7] MAT-1
If TOM = 48 and DICK = 27 then HARRY will mean

T TOM = 48 TT DICK = 27 A HARRY & 3T §

(1) 50 (2) 60 (3) 70 (4) 80

If in a code language SISTER is written as 535301, UNCLE is written as 84670
and BOY is written as 129 then in that language SON will be written as

I3 HYl Wik AT § SISTER % U 535301, UNCLE % WU 84670 4l
BOY & U 129 @l ST & af 39! A6 § SON & o Rl o1@l S 2

(1) 923 (2) 524 (3) 342 (4) 872

If in a code language 5234 is written for RING and 6109 for FAST, then in that
language 095234 will be written for

T3 AN Wich qH 9T H 5234 H RING T 6109 Tl FAST @l STl & af 34T

9T § 095234 hl ST o1&l STRATT 2
(1) STRING (2) NGRIST (3) STRNIG (4) STRIGN

Rita is taller than Neeta but shorter than Sita. Sita is shorter than Gita then
who is the tallest among them ?

AT, A T A= Hwq G F Bl &1 i, M ¥ S g, O W 999 ot
HFE ?

(1) Rita (Tm) (2) Neeta (Fdr)

(3) Sita (HidT) (4) Gita (3T

If in a code language FIRE is written as DGPC, then in that code language
SHOT will be written as

I HAl Gehdh 9N § FIRE & DGPC of@l ST &, df 391 Wiehash 9er |
SHOT &t &1 & ?

(1) FQMR (2) QMFR (3) QFMR (4) QREM
In the way 'horse' is related to 'run' in the same way 'bird' is related to

TE YRGS 1 oY ‘Tred’ W ¢ 39T TER Ul oG9y HEd § 2

(1) move (T (2) run (SrT)
(3) crawl (X7T) (4) fly (3)

In the way 'voltmeter' is related to 'potential difference’, in the same way
'Ammeter' is related to

G UHR ‘dieeHel’ H Oy gudial’ ¥ ®, S§ UBR THRI' H Hey
FAA T ?
(1) Rain (387) (2) Earthquake (eh9)

(3) Electric current (5@3 1E4)) (4) Temperature (TTHT)
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MAT-1 [ M-8]
49. In the way 'Indonesia’ is related to 'Jakarta' in the same way 'Nepal' is related to

S YR ‘TS A1 T oY SRl F ¢, IH GHR AU’ H 6y §

(1) Melbourne (ﬁ?ﬁﬁﬁ ?}I) (2) Dhaka (@RI @)
(3) Kathmandu (W@ @f) (4) Islamabad (SEATHETS @)
50. In the way India is related to Ashok Chakra, the same way Sri Lanka is
related to
ST YR RA T GaY 3T Ik 9 € AT ThR SAieiehl 1 Gy H8d & ?
(1) Lily (Fl?'ﬁ) (2) Lion and sword (@T g TaR)

(3) Moon and star (I 3R FART)  (4) Red star (38 ©R)

51. In the way 'Hockey' is related to 'India’ in the same way 'Spain' is related to
S YRR ‘9RA’ T ey FR W ¥, S THR WA G §
(1) Baseball (3TEA ) (2) Bull fight (TGl FI TeE )
(3) Football (FZarel &) (4) Ice hockey (32T & &)

52. In the way 'Santhal' is related to 'India’, in the same way 'Negro' is related to

T TR WA’ T G 9YRA’ 9 €, S YHR T 7 Wy ®
(1) Japan (ST{= @)

(2) Germany (ST &)

(3) Africa, America (d~|!—h(\|°hl, 3:|ﬁ chl @)

(4) Nepal (Furet &)

53. In the way 'Red Fort' is related to Delhi, in the same way 'Pyramid’ is related to

ST YR ‘AT el Sooll O 99 Od €, SH TR W HS’ T T §
(1) New York (:{aﬁ? 15[) (2) Egypt (¥F )
(3) London GES ?}I) (4) Berlin (a'%’l:f @)

54. In the way poet is related to poem, in the same way ornaments are related to

ST YR FF T O € H A & SHT YR TMN0T Tef 6 ©
(1) Goldsmith (WUTHR W) (2) Cobbler (F=T T)
(3) Carpenter (EIE_'%& @) (4) Dance director (ﬂ?q IR @)
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55.

56.

57.

58.

59.

60.

61.

[ M-9] MAT-1
In the way 'area’ is related to 'hectare’, the same way 'radian' is related to
ST YRR ‘SR’ Hel ud € FEA ¥ W TR YT e o §
(1) heat (AT ) (2) potential ( TTT )
(3) resistance (JFHAT T) (4) angle (0T T)

The relation that exists between ABC and ZYX, the same relation will exist
between CBA and

ABC d9T ZYX & SI9 5 Hey €, g8l HeY CBA &1 T H 4 g% T ?

(1) ZXY (2) BCA (3) XYZ 4) XzY
In the way 28 is related to 82 in the same way 36 is related to

TE TR 28 G ¥ & 82 9, 3ieh I YhR 36 HT GET & .......... T
(1) 56 (2) 32 (3) 63 4) 56

Statue of Liberty : USA : : Eiffel Tower : ?
W 3% el : o o YT : : Uhet TR : ?
(1) New Zealand (:qc\?ﬁ@g) (2) France (Eh—l'{:f)

(3) Indonesia (= 1) (4) Japan (STUM)

In the way Palaeontology is related to Fossil in the same way Pedology is
related to

T UHR U A=A T G SHaes 9 & 3TN YR USIeArstt 1 gae §

(1) Blood (= @) (2) Plants (Eﬁ?‘}l @)

(3) Soil (Tl W) (4) Tissue (3d® )

In the way White Pigeon is related to peace, the same way Swastik is related to
ST YR Th X T T A T §, I TR WTsh FHl Jae §

(1) Good luck (Fﬁ":l'l'rq )

(2) Prosperity (W@' @)

(3) Civilization and culture (FIdT AT H{*jv d @)

(4) Danger (GT )
Regarding Ajit, Neelam tells to her friend that 'He is the only son of grandfather
of my own brother', then how is Neelam related to Ajit ?

Herd, i & I T Y0 UH Teell ¥ wedl & b g8 W G 9E F IET H
TheAl a2l &, ol o 1 3T & o1 Gey ¢ 2

(1) Maternal aunt (‘:ﬁ'\qgf) (2) Sister (J&7)

(3) Daughter (El?ﬁ) (4) Paternal aunt (§3ﬂ)
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MAT-1 [ M-10]

62.

63.

64.

65.

66.

Navin, the son of a photographer who is a resident of Nagpur says to Urmila
that Prabhat, who is staying in Delhi, is the eldest son of the father of Samir. If
mother of Samir is the wife of Navin, then what is the relation Prabhat has with
Navin ?

TR H T Al Uh RIS & UF a9 3 30 ¥ #Er & U9 S Soelt o
AT & GUR & UAT 1 o9 F1 YT &1 AT GHR Y 0 T Bl oAt &, At T
T o WY T G § 2

(1) Son (J7) (2) Brother (8T%)

(3) Nephew (sister's son) (A7) (4) Nephew (brother's son) (“:lT‘ﬁ\_TlT)
A man walks 12 km towards north. After this he walks 5 km towards west then
how far is he now from his starting point ?

U F 6 I Ml AR 12 FHH TAT, IGh oI5 98 G¥TH ol 3R 5 FA T af
TE I AN 9 WF ¥ el U W E ?

(1) 22 km (22 ) (2) 17 km (17 &)

(3) 5km (5 ) (4) 13 km (13 &)

Pointing to a lady Vijay says that "She is the only sister of my brother-in-law".
How is the lady related to Vijay ?

ST T A ol TR WIRT X §T el &€ o ‘T8 BY Grol il hoiral 56 &' |
% AR o5 d§ HH ThR Fe 4d ¢ 2

(1) Daughter (El?ﬁ) (2) Wife (QC_'-ﬁ)

(3) Sister (F&) (4) Sister-in-law (3%T)

Pointing to a man in a picture a woman said, 'The father of his brother is the
only son of my mother'. How is the man related to that woman ?

UF TR § UH GEY hi 3R Hoha I §U UF HEel 3 Hel & IHh WIE FH Il
TRY |t T ThAIT O €' | 98 Y5 1 3T TEeT ¥ 7 Gy § 2

(1) Grandson (tﬁT‘lT) (2) Nephew (Brother's son) (“F‘ﬁ\_ﬂT)

(3) Son (El?f) (4) Brother (“:l'lé)

At the time of sunrise a boy was doing exercise by keeping his head down and
legs up in the ground. If his left hand is towards east, then in which direction is
his face ?

gIRT & YT Uh AASH! HeH § T A 3R W HW ek AT L T@T a11 I
ST AT BT R i TR &, Al IR Teq Y R o7 2
(1) North (3T) (2) South (T &07)

(3) West (Wﬁaﬁ) (4) None of these (szlﬁ q Eh-\l_s‘ :iﬁ)
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67.

68.

69.

70.

[ M-11] MAT-1

Facing towards north Rana walked 30 m. Then he turned left and walked 50 m.
Again he turned left and walked 30 m. Now how far is Rana from his starting
place ?

SW H AR T FEH AN 30 WX Fell|l W 98 a1 [T 3R 50 HieX ol |
TP H T SR 30 HieX TAT| 379 98 UK 9 T ¥ ol 30 W § ?
(1) 80 m (80 HIX) (2) 60 m (60 HIX)

(3) 20 m (20 HX) (4) 50 m (50 HX)

Bablu started to walk from a point A. After moving 12 m towards north he
turned right and moved 10 m. Again he turned right and walked 12 m, then
turning left walked 5 m. So far what distance has he travelled and in which
direction is he ?

I Th T A W Tl IR FAT €1 12 HeX W 90 H A & 918 I GHT
10 HieX FeTdl €1 Y ¥ Heo 98 12 HieX 3R & a1 TE 5 Hiex Foral &1

37 T 98 FA el g dF L IH & AR FFY TWMH Y ?
(1) 40 m, west (40 HieX, gf¥=m) (2) 29 m, south (29 HIZT, T &T07)
(3) 39 m, east (39 HIEX, 7F) (4) 35 m, north (35 HeX, 3TN)

One day before sunset Vandana and Chandan were talking with each other face
to face standing in a chawk. If the shadow of Vandana falls on the right side of
her then in which direction was Chandan facing ?

TF 3 AR EF ¥ gd IR IR TR U @i W SHA-THH T BT a1
W I TT Il o WITE 39 31 AT AR IS @ &l, df o= o1 98 HH <90
SR BT 2

(1) South-east (¥ W—Eﬁ) (2) South (T &)

(3) North (W) (4) West (Qﬁ%m)

One morning after sunrise Atul and Rashmi was talking with each other
standing face to face. If the shadow of Rashmi falls on the left side of Atul then
in which direction Atul was facing ?

T g8 GART & I8 A AR (A TH-3W § 0 TF TS FIHT a1 H ©
| SR VY I WBTE 3T I ik TRl 3R off, A T I Ig HH TWE T 2

(1) North (3T) (2) South (T &)
(3) East (q9) (4) West (afgem)
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MAT-1 [ M-12]

71.

Harish is taller than Sameer but shorter than Ambuj. Sumit is shorter than
Vishal. Ambuj is shorter than Sumit. If all of them are made standing in
increasing order (ascending order) of their heights, then who will stand at the
end ?

YT, TR § T, W TS § BieT &1 U, 99et ¥ BT &1 3T, g 9§
BT &1 AT G T I 3R o aTe & STER g vH (TR F7) § @S HaT
ST, o T 3T | i TS BT 2

(1) Harish (&%) (2) Ambuj (3T

(3) Sumit (FH) (4) Vishal ( IRTT)

Q. 72-74 According to the information given below answer the following three

72.

73.

74.

75.

questions :

Four girls A, B, C and D and three boys E, F and G are sitting
simultaneously in such a way that any two boys or any two girls will not
sit together.

e <t TS STHeRI T o STMUR T =77 shel i T91 o IR < |
IR ASHA A, B, C TN D AR I oIl E, F AT G I 36 TR d93d &
% IS W S oIS AT & oIS HAT Teh T F 93 |

Who will sit after B?
B % dI€ i ST ?

(1) F (2) B 3) D 4 C
Who will sit between C and D ?

C 3R D & &9 | &IF 93 ?
() A (2) D B G 4 C
Who will sit exactly in the middle ?

g9 I H i ST ?

(1) F (2 G ) C (4) B
If the age of Manohar is greater than that of Ankit and the age of Saroj is not
greater than Ankit then whose age among the three is greatest ?

AT FARR I A S H A Y A & AR TS F g A H g A
3 TR &, T A T T4 Y HH 2

(1) Saroj (W)

(2) Ankit (37hd)

(3) Manohar (Il:ﬁ%?')

(4) Cannot be decided (G T AT ST Gehall)
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Q. 76-80

[ M-13] MAT-1

Based on the following information answer the following questions :

(A)

(B)

(€)

In a school classes of different subjects — Commerce,
Mathematics, English, Hindi, Urdu and Sanskrit are held in
weekdays and Sunday is a holiday.

Commerce class is on Friday and English is taught on Monday.
Urdu class is after Hindi. Sanskrit is taught on Thursday after
Urdu.

Mathematics class is on one day before holiday.

A €} TS SR T % YR WY 5 U9 % IR 9

(A)

(B)

©)

Th JId H T & & § g9 a9dl — arusy, WU, 3iUS,

TI, 3§ U1 HEhA i UGTE il € T TTAR & 3 STTHIT Biel &

IERAR T ST U qAT HHAR i 3TUST i UeTE eidl &1 35 i TgT8

Tl % SIS B & | 35 o 918 WEhd Bl UTE Je daR i el ¢ |
3TEHTET o U &9 Uget T U i UgrE Bl |

76. Which subject is taught on Wednesday ?
AR H HE T9F H GGIE el § ?
Hindi ( &) (2)  Urdu (3%)

English (3:Iﬁ5i ) (4) Sanskrit (W)
77. Which subject is taught before Hindi ?

(1)
(3)

&l 9 gl h9 9T S USTE Bl & 2

(1)  English (3TUsT) (2)  Urdu (%)
(3) Sanskrit (W) 4) Mathematics (7T 9Tq)

78. The difference of how many days is there between Urdu and Commerce
classes ?

35 AR AU Y UGTE o O el &A1 T R T ?

(1)
(3)

4
2

2 3
(4) 1

79. Mathematics class is just after which subject ?

U &I UGS hd 9T % 3k O1% Bldl § 2

(1)
(3)

Hindi ( &) (2) Mathematics (77 UTd7)

Sanskrit (F&hd) (4)  Commerce (7 UY)

NTSE-2020/21-M-1/501 15



MAT-1 [ M-14]

80. The classes start with which subject ?

TGTE T TR FE o597 § BT & ?
(1)  English (310sT) (2)  Hindi (=)

(3) Commerce (1 75T) 4) Sanskrit (W)

81. On a table the books of Physics, Mathematics, English and Hindi are arranged
in such a way that the book of Hindi is just above the book of English and the
book of Mathematics is just below that book of Physics. If the book of Physics is
just kept below the book of English then which book is kept bottommost ?

T O W e, MU, ST 3R &< hl o™ 0 YHR TG & F &=l i
e U T HAd & 3oh FW AR TUT B g Tl Bl Hdd & 3
A T W ARl I e, U I e & 3 A @i e, df gad A hiF-9

SHelTe BN ?
(1) Physics (“:ﬁﬁaﬁ) (2) English (aﬁ?ﬁ)
(3) Mathematics (77 UTd7) (4) Hindi ( &)

Q. 82-84 Akram, Vikas, Karan and Dinesh are seated on chairs around a round
table. It is seen that

A. Akram is seated in front of Vikas
B. Dinesh is seated in front of Karan
C. Dinesh is seated at the left of Akram.

3T, TR, U7 SR TA9 TH A B & 8- 7% I W IS § | g <@l

T &

A, 3THH, g6 & G ST ®
B. YT, SHOT o HHA 93T &
C. g9, 3THH & ST 3N SaT ¢ |

82. Who is seated at the left of Vikas ?

T % TR AR I G312
(1) Dinesh (%)
(2) Akram (3THH)

(3) Karan (RT)
(4) Cannot be decided (G T Hﬁ)
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83.

84.

85.

[ M-15] MAT-1

Who is not seated at either right or left of Dinesh ?

T B B A9 % I AT 9 TEl 931 € 2
(1) Vikas ( IE) (2) Akram (3ThR{H)

(3) Akram or Vikas (3" T Ih1E) (4) Karan (hXTT)

Which statement is not correct ?
T H ¥ -9 FUT GEl TR ¢ 2

(1) Karan is seated in front of Dinesh (S0, & GEA 93T ©)

(2) Akram is seated at the left of Karan (?ﬂw, T & I 6] %)

(3) Vikas is not seated in front of Akram ( FEIE, 3THTH % TH &l 437 &)

(4) Vikas is seated at the left of Dinesh (W, 33|¥| & & 9T %)

Which of the following names will come second in the telephone directory ?

TAAET A T B B SERF H @ W W e ?

(1) Raman (399) (2) Rana (I70M)
(3) Rahul (3gT) (4) Rajan (I57)

Q. 86-90 Six books are kept one after the other. History book is just above Civics

86.

87.

book, which is just above the Mathematics book. Computer book is not at
the topmost. There are four books in between English and Physics books.
English book is at topmost and Computer book is just below the English
book.

B: TEIH T & SN TF W@ T §1 TR o &6 A0 IH A 6 3lh
FW T, ST U T P 3 SN ¢ HEY Dl [h GG FW T ¢

3UST 3R I T ¥R I G&I o i IR Y&deh & | 3TUS &l Jds dad
TR T 3R FX hl TEIH ST Sl T&IH & 3 A9 |

Which book is in between Civics and Computer books ?

TR I WA 3R HPF I [ & ad HH-91 & & ?

(1) Mathematics (TTUTq) (2) English (3UsT)
(3) History (3 T&) (4) Physics (97T M)

How many books are above Physics book ?
T AP I & FW H- J&Ib & ?

(1) 1 (2 2
3 3 (4) S

NTSE-2020/21-M-1/501 17



MAT-1 [ M-16]

88. Which book is at bottommost ?

g A SE-9 IEiE € 2

(1) Computer (FFIX) (2) History (3 T8H)

(3) Civics (AT T 9TET) (4) Physics (9 T &)

89. Which book is just below the History book ?

TR ! T&IF & Ik A HiA-Tl [ § ?

(1) Civics (AT T M) (2) Mathematics (T7UTd)
(3) Physics (":ﬁW M) (4) Computer (Wc\??)
90. How many books are there in between Computer and Physics books ?

FPLY AR I qH M & dd H el J&Ih © 2
(1) 1 2 2
3 3 4 4

91. Find the missing number in the diagram :

e ST | O WAl I HW
@& ® O
I i
(1) 46 (2) 47

3) 48 4) 45

92. Find the missing number in the diagram :

ST SMEF T H ol WAl A1 N

(0]

56 06 5O

8

(1)
3 6 4 7

NTSE-2020/21-M-1/501 18



[ M-17] MAT-1

93. Find the missing number in the diagram :

ST AH T H ol ST T Y

(1) 45

3) 46 (4) 47

94. Find the missing number in the diagram :

TET M H aofe WAl AT Y

& ?

(1 27 (2) 29
(3) 28 (4) 30

95. Find the missing number in the diagram :

TET M H aefe WA AT Y

3
7 28 6 5 6
4 3
(1) 18 2) 38
3) 28 (4) 08
96. Which diagram will represent the relationship between Bihar, Jharkhand and
Patna ?

TER, SREUS qAT YT o die o Yoy i hia-9l A0 d TSTd il & ?

o o OO
@O (4

NTSE-2020/21-M-1/501 19



MAT-1 [ M-18]

Q. 97-100 Study the following diagram and choose the correct alternatives given

97.

98.

99,

100.

under each question :
I ST U ARG T FHIT R AR TP A T T G T S TGP
T o AT {U W Fhed B H I

S5 | Cities
4\ TR

Capitals of
States 11 6 ) 2
RSCIGEI 8
«— Qistricts

e
How many such cities are there which are neither capitals of states nor
districts ?

e UF TR € ST T i ST AT STl e E 2

(1) 6 (2 5 3) 4 (4) 7

How many such cities are there which are also capitals of states ?

e TH TR & ST T 6l It o € 2

(1) 4 2 8 3) 6 4 11

How many such districts are there which are cities as well as capitals of states ?

e TH STl € ST TR oft & iR T Bt It o 2

(1) 11 2) 8 3) 7 4) 6

How many such cities are there which are also districts ?

F T TR & ST 5Td off € 2

(1) 8 (2 1 3) 3 (4) 2

NTSE-2020/21-M-1/501 20
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[ PHY-1 ]

Physics

1.

The object distance u, image
distance v and focal length f for a

spherical mirror are related as

1 1_1 1,1_1
Ty TR
B) v-u= 4) v+tu=f

The image formed by a concave
mirror is observed to be virtual,
erect and larger than the object.
Where should be the position of
the object ?

(1) Between the principal focus

and the centre of curvature
(2) At the centre of curvature

(3) Beyond the centre of
curvature

(4) Between the pole of the
mirror and its principal focus

The change in focal length of an

eye lens is caused by the action of

the

(1) Pupil

(2) Retina

(3) Ciliary muscles

(4) Iris

At the time of short circuit, the

current in the circuit

(1) reduces substantially

(2) does not change

(3) increases heavily

(4) vary continuously

NTSE-2020/21-S-1II/502

SAT-2

oY TRt
Mot T & T 9w FOG
TATE HI Qo v TA FIHT A f

LERGES

1 1_1 1, 1_1
T T
B) v-u-= 4 v+u=f

T T ST, e qe I @ a9t

@ USAT § | 9Rg I T Fal

BT =18 2

(1) T HIhE T Thal B
CiE]

(2) TRl g W

(3) TRl % F W

(4) TUU & Y qAT G BiHT
e

3T o9 I WRE U H G

AT ST &

(1) I BRI

(2) gfeeeet gRT

(3) T BRI

(4) O TAT TR GRT

I & T U0 § G 9w
T T

(1) <8 9 & ST €

(2) T Efdd Tl

(3) Tgd 3T UH I T §

(4) "R 9 Tatad g g



SAT-2

5.

Three resistances of 4Q, 5Q and
20Q are connected in parallel.
Their combined resistance is

(1) 20 2) 40

3) SQ 4) 29Q
The electrical appliances in the

houses are connected with each

other in
(1) parallel
(2) series

(3) a combination of series and

parallel circuits
(4) none of these

Electrical power is given by

_V I
(1) P= T (2) P= v
(3) P=§ 4 P=VI

SI unit of magnetic field is
(1) ampere (2) henry
(3) tesla (4) ohm

The direction of induced current in

a circuit is given by

(1) Fleming's left hand rule
(2) Fleming's right hand rule
(3) Right hand thumb rule

(4) Ampere's swimming rule

NTSE-2020/21-S-1I/502

[ PHY-2 ]

5.

40, 50 99 200 F dF TR
IR H S §C & | AP G
TG BT

(1) 20 2) 40

3) 50 4) 290

W H AT SUHIOT T T O S

B &

(1) THER H

(2) SolRA |

(3) SUIRH TN FHIGR YIOT H
TN o

(4) T § T @I

ST Sol I @6 HAT STl ©

|4 I
() P=T ¥R (2 P= §W
(3) =§§m 4) P=vVI §XI
TEhT &1 Y SI THE ©
(1) TR (2) &
(3) oTe (4) 3Tg
FE TG T YT URT I S0 o
S ®

(1) AT F 9 81 999 R

(2) TATERT & IR B 799 R

(3) T B SRT IH FRI

(4) THER & a1 799 §RT




10. No -current flows between two 10

11.

12.

13.

[ PHY-3 ]

charged bodies when connected, if

they have same
(1) capacity

(2) potential

(3) charge

(4) none of these

The magnetic effect of electric

current was discovered by 11
(1) Faraday (2) Henry
(3) Oersted (4) Maxwell

The phenomen of electromagnetic

induction is

(1) the process of charging a =
body
(2) the process of generating
magnetic field due to a
current passing through a
coil
(3) the process of producing
induced current in a coil due
to relative motion betwen a
magnet and the coil
(4) the process of rotating a coil
of an electric motor
The human eye forms the image of
an object at its 13.
(1) cornea (2) iris
(3) pupil (4) retina

NTSE-2020/21-S-1II/502 5
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S T APV UvS 9 e §, a9
YR VeTEd el et §, AT ST
A BT &

(1) &g

(2 9=

(3) AT

(4) T F B T

. T URT HT TR TS Bl G

AT T AT

(1) WEER (2 &R ER

(3) JMLSERT (4) WHASA FNT

SR IR UROT i T TEAT

(1) G I%] HI SIS FA hl
AT &

(2) HEl FHeolt B TR R JAT8d
g % HRUT YT & 3
I T T HAT €

(3) el T Yk * T Y TR
Td & HRO FHeell d U
SR URT 399 HIA I T HAT
3

(4) HE TEYT ARI B FSell H
HU HIH i THAT §

g 3 59 90 W HA a&] FH

Tt S € o §

(1) Hif=r (2) AR

(3) e (4)

G &Yl
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[ CHE-1]

Chemistry

14. What

15.

16.

17.

happens when  dilute

hydrochloric acid is added to iron

filings ?

(1) Hydrogen gas and iron
chloride are produced

(2) Chlorine gas and iron

hydroxide are produced
(3) No reaction takes place

(4) Iron salt and water are

produced

In the equation
CuO + H, —» Cu + H,O0, the

substance reduced is

(1) CuO

(2) H,

(3) Cu

(4) none of these

Select the organic acid from the

following :

(1) Hydrochloric acid
(2) Nitric acid

(3) Sulphuric acid
(4) Citric acid

A solution turns red litmus blue,

its pH is likely to be
() 1 (2 4

3 5 4) 10

NTSE-2020/21-S-1II/502

14.

15.

16.

17.

SAT-2

T|EA
AR-IU W A TRGEIH A
e 9§ T B E 2
(1) TESSH 719 T 3RRA FARTES
T
2) FTRA TE TE  IERA
ETESIHATES e &
(3) IS A THAT Tal Bl &
(4) TR 0T e ST ST €
HIHOT Cuo + H, — Cu + H,O H
I UET 3T A BT € ?

(1) CuO
(2)  H,

(3) Cu

(4) T ¥ HE T

TAAET H ¥ FE A I I -

(1) BTSQIRAl Tk 3TFA
(2) HlREHh 3HFA

(3) W 3IRA

(4) WETH

He TIdT ol IZHT i Aol Y

AT &, T pH GHa: B
(1) 1 (2 4

3) 5 4) 10



SAT-2

18.

19.

20.

21.

22.

[ CHE-2 ]
Tooth enamel contains 18.
(1) Calcium carbonate
(2) Calcium sulphate
(3) Calcium chloride
(4) Calcium phosphate
Which one of the following
compounds is not an ionic 19.

compound ?

(1) Sodium chloride

(2) Calcium chloride

(3) Carbon tetrachloride
(4) Magnesium chloride

Butanone is a four-carbon

compound with the
group

(1) carboxylic acid
(2) aldehyde

(3) ketone

(4) alcohol

Ethane, with the molecular

formula C,H g has 21.

(1) 6 covalent bonds
(2) 7 covalent bonds
(3) 8 covalent bonds
(4) 9 covalent bonds

Choose the metalloid from the

following elements : 22.

1) Boron

(

(2) Sodium
(3) Chlorine
(

4) Aluminium

NTSE-2020/21-S-1I/502 8

functional 20.

3Tl ST THEET ST Il &
(1) T IEH HEHS T
(2) heT ITH TS T

(3) °heT ITH FARTES H

(4) HOTYIY BIERS H

T § 9 HE-9 AR AT TR

I TR TR E 2
(1) O TIY FARES

(2) hol IFH FARTSS

(3) IS CIFANTES

4 HAHIH RIS

AT TR-FHEA AT & STHD
SJehTcHS TE ©

(1) hTSToT ok 378
(2) Ufeserss

(3) FREM

(4) UcHhierA

T T 3TVa GF €, H & | 389
(1) 6 TEEANTF 3Ty &
(2) 7 HeHdISTh ey &
(3) 8 TREANTH Iy &
(4) O TEHASTH Y €

T A Gd aedl ¥ 3T 9
(1) SRE

(2) |TIH

(8) FARHE

(4) TGHTIH



23.

24.

25.

26.

[ CHE-3]

Na, Mg, Al and S belong to 3rd 23.

period of the periodic table. Out of

these acidic oxide is formed by
(I) Na (2) Mg

(3) Al 4) S

Which of the following compounds 24.

is used to repair fractured bones ?

(1) Na,CO,
(2) CaOCl,

1
-~ H
(8) CaSO,, 5 H,0

2

(4) CusO,, 5H,O0

2

How many groups are there in 25.

modern periodic table ?

(1) 7 2) 13

(3) 18 4) 20

26.

Pure gold is

(1) 18 carat
(2) 20 carat
(3) 22 carat

(4) 24 carat

NTSE-2020/21-S-1II/502 9
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Na, Mg, Al 94T S 3f&d 9RO o
qW MEd € | T8 T Hdh N
3TAT STRATES AT & 2

(1) Na (2) Mg

(3) Al 4) S

T ATR A ¥ HGHT ST e
g B & AHd | g € 2

(1) Na,CO,4

(2) caOCl,

3) CaSO4,%H20
(4) CusO,, 5H,0

(1) 7 2) 13
(3) 18 (4) 20
IS AT E
(1) 18<
2) 209
3) 22°e
4) 24
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[ BIO-1]

Biology

27.

28.

29.

30.

31.

The breakdown of pyruvate to give
carbon dioxide, water and energy
takes place in presence of oxygen
in

(1) cytoplasm
(2) mitochondria
(3) chloroplast

(4) nucleus

The gap between two neurons is
called

(1) dendrite

(2) synapse

(3) axon

(4) impulse

Rings of cartilage are present in

(1) oesophagus

(2) Dbile duct

(3) throat

(4) small intestine

The
responsible for

xylem in  plants are

(1) transport of water

(2) transport of food

(3) transport of amino acids
(4) transport of oxygen

Which plant
bending of shoot towards light ?

hormone causes

(1) Auxin

(2) Gibberellin
(3) Cytokinin

(4) Abscisic acid

NTSE-2020/21-S-1II/502
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- I

07. JHENH & JURAT H UGS &

28.

29.

30.

31.

@S 9§ HET SRIHARLS, SToA Tl

ST 3 Wl AT Bl §

(1) IIHEST o

(2) TIRSRIgAT |

(3) ¥ @a® H

(4) HEH A

T =T % S SeRTeT e §
(1) g

(2 T

(3) WA

(4) 3TET
SURY-gera 3Uferd Ted €

(1) TEHH (2 v ATE H
(3) TemH (4) DI 3T H
el o SEed ISR &

(1) S % q¥EeT & o

(2) S % YIdeT & U
(3) UHMT 3T & UTEET & U
(4) ST &% TIOET & oW

F9 URY FHH % HROT AN
TRTST b1 TRE el &l & 2

(1) TeRA
(2) SR
(3) WIS T4

(4) UsHdsh UdHs



SAT-2 [ BIO-2]

32. Which of the following plant 32, 9ETET § 9 9 ULy 5|J—ﬁ-—| +
hormones causes wilting of FROT T T 41{5“‘5 g_g, {E'»('I“I % 5
leaves ? ’

. . (1) ST A
(1) Gibberellin
(2) Cytokinin (2) W
(3) Auxin (3) TR
(4) Abscisic acid (4) UsHdHb UHS
produced in .
(1) =S H
(1) thyroid .
(2 TETAH
(2) adrenal ) )
(3) UwraANT H

(3) pancreas

(4) TSR H

(aV
34. TGN IS BT §

(1) wE B

(4) pituitary

34. Insulin is produced by

(1) Pituitary

(2) Pancreas (2) EEG T
(3) Thyroid (3) S BT
(4) Adrenal (4) Q@fl?'f Ey
35. The example of unisexual flower is 35. QEFFP'P[ T <hT 3]Te 0T %
(1) Hibiscus (1) T&=hd
(2) Mustard (2) LSRGl
(3) Papaya (3) Tt
(4) None of these (4) 3'_{15[ q ﬁ"%" 'TEPT
36. The transfer of pollen grains from 36. TFTHIT 9 IR T aidehd dh
anther to stigma is termed as THTEOT SHEeATdl %
(1) fertilisation (1) T
(2) pollination () W
(3) ovulation a) S
(4) double fertilisation @ 3 A

NTSE-2020/21-S-1I/502 12



37.

38.

39.

40.

[ BIO-3]
Fat is digested by the enzyme 37.
(1) amylase
(2) pepsin
(3) trypsin
(4) lipase
Genetic material is carried out by

long chain of molecules made up

of 38.

(1) enzymes
(2) DNA
(3) amino acids

(4) proteins

Who  proposed the law of
inheritance ? 39.
(1) Darwin

(2) Mendel

(3) Lamarck

(4) Morgan

Changes in the non-reproductive 40.

tissues caused by environmental

factors

(1) are inheritable

(2) are not inheritable
(3) Dboth (1) and (2)

(4) none of these

NTSE-2020/21-S-1II/502 13
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T BT §

(1) THRES

(2) dfee

@) gz

(4) RS

ULl <l el @ ¥ TIETEd B
ATt 3T I U1 5 B &

(1) UT=H &

(2) DNA®

(3) UHHI TES HF

(4) WRHE &

SUMT H AgH HwEA GETEd
HAT ?

(1) e

(2) HUEHA

(3) ©EER

(4) HOH

UqeR0 SRl % RO

TR-STTcH Skl H T &dq

(1) SRTE-IT &
(2) SENE-ATT T E
(8) (1) (2) AT
(4) T ¥ HIE T |
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[ MTH-1]

Mathematics

41.

42.

43.

44,

45.

46.

In a mixture the ratio of milk and
water is 3 : 2. If there is 5 litre
milk more than water the quantity

of milk in the mixture is

(1) 10 litre (2) 15 litre

(3) 20 litre (4) 25 litre
If x =2, y=3 is a solution of a
pair of lines 2x — 3y + a = 0
and 2x+ 3y—- b+ 2 =0 then

(1) a=3b (2) a+3b=0
B 3a+b=0 (4 3a=b

In a right triangle ABC,

AB= 643 cm, BC=6 cm

and AC= 12 cm. £ A is given by
(1) 90° (2)  45°

3) 30° (4)  60°

D and E are the mid-points of the
sides AB and AC of AABC. If DE
measures 3 cm, then the side BC
measures

(1) 6cm (2) 7cm

(3) 8cm 4) 9cm

The mean and median of a data
are respectively 20 and 22. The
value of mode is

(1) 20 (2) 26

3) 22 4 21

The tenth term from the end of the
AP. 4,9, 14, ......... 254 is

(1) 214 (2) 209

(3) 208 (4) 204

NTSE-2020/21-S-1II/502
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RuC)
FAT AT | Y TS ST HT ST
3:2% | I AU H A F q¥
5 oflex 374 & df T H g9 i
AET 31T |
(1) 10X (2) 15X
(3) 20 X (4) 25X
2x-3y+a=0ddM2x+3y-b+2=0
TG JH FT A 9% x= 2, y = 3 &,
ar

(1) a=3b (2) a+3b=0
3) 3a+b=0 (4 3a=bh
TH  @ERUT I ABC W

AB = 643 cm, BC = 6 cm 9l
AC=12cm¥ | ZA T4 SWW

(1) 90° (2) 45°

) 30° 4 60°
AABC &I SSTI3TT ABAIT AC % HEA-
F5 DM ET | AT DE H AT

301‘1’13:[,(_'ﬁ HT'ITBCEI%II'I'qﬁTﬁ
(1) 6cm (2)
(3) 8cm (4)

FG 3he & WA qAT HITEAHT
HUTT: 20 AAT 22 € | FgoTH N AN

7 cm
9 cm

gﬁm
(1) 20 2) 26

(3) 22 4) 21

AP. 4,9, 14, ......... 254 % T F
T 9% BT

(1) 214 (2) 209

(3) 208 (4) 204



SAT-2

47.

48.

49.

50.

51.

Two vertices of a triangle are (3, 5)
and (- 4, — 5 ). If the centroid of
the triangle is ( 4, 3 ), find the
third vertex.

(1) (13,9) (2)
@ (13,-9) )

(9,13)
(=9,-13)
If tangents PA and PB from a point
P to a circle with centre O are

inclined to each other at an angle

of 100°, then £ POA is equal to
(1) 20° (2) 30°
(38) 4o0° (4) 50°

A square is circumscribing a circle.
The side of the square is 14 cm.
Find the area of the square not
included in the circle.

7
v

e—— 14cm —>s
(1) 21 cm? 2)
(3) 48 cm? 4)

42 cm2
196 cm 2

If the angles of elevation of the top
of a tower from two points at the
distances of 3m and 12m from the
base of the tower in the same
straight line with it are
complementary, then the height of
the tower (in m ) is

(1) 36 (2) 60
3 6 (4) 100
The surface areas of two spheres

are in the ratio 1 : 4. Then, the
ratio of their volumes is

(1) 1:4 (2)
3) 1:16 (4)

1:8
1:64

NTSE-2020/21-S-1II/502
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47.

48.

49.

50.

51.

16

ST & I WG (3, 5) T (- 4, - 5)
€ 1 AT AT T Hsch (4, 3) &,
AT 30 T

(1) (13,9) 2) (9,13)

B) (13,-9) @ (-9,-13)
JT OFK AA A F a5 P PA
qAT PB TRR@M TH TH W 100°

H W TG &, Ol £ POA SR

g
(1) 20° @) 30°
(3) 40° 4) 50°

U 7 % T Uk o & | o
ger 14 cm € | I H I &TRA
3 Y STEH g 3fae 31 T ¢ |

S
v

«—— l4cm ——
(1) 21 cm? (2) 42 cm?
(3) 48 cm? 4) 196 cm?
T Uh 26N % YR § UF & T
i’@Tﬁ(Sm(“fﬂTlQm@W I &
FgA H W TR w WY FH WA
HUT FERSF &, A <R Bl &

(1) 36 (2) 60
3) 6 (4) 100

g TRl 6 U5 &ARA ST
1: 4%, a 9% FHT 1 I
grm

(1) 1:4 2)
(3 1:16 (4)

1:8
1:64



[ MTH-3 ]

52. The slant height of a bucket is S52.

26 cm. The diameter of upper and
lower circular ends are 36 cm and
16 cm. The height of the bucket is
(1) 22cm (2) 24 cm

(3) 10cm (4) 25cm

53. Half of which number is 18 more

than its one fifth % thj > 53.
(1) 48 (2) 52
(3) 60 4) 64

54. Sum of two numbers is 25 and

their product is 154. The greater 54.
number is

(1) 11 2 12

(3) 13 4) 14

55. If A and B together can complete a
work in 12 days and B and C can
complete it in 15 days and Cand A
can complete in 20 days, then in
how many days can A alone
complete the said work ?

(1) 20 days (2) 30 days

(3) 40 days (4) 60 days

NTSE-2020/21-S-1II/502 17
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Teh deel bl IS S 26 cm € |
AT it & U qAT ArEelt A
36 cm d4ar 16cm% | SToer i
EE I

(1) 22cm (2) 24 cm

(3) 10 cm (4) 25cm

Y GEAT 1 37T A Ued e
T 18 STIET B 2

(1) 48 (2) 52
(3) 60 4) 64

T WS H AN 25 TAT [UHEA
154 &, df ISI T e

(1) 11 2) 12

3) 13 “4) 14

IT A AR B Telh HAl HH I

12 1 H [ A &, B3R ¢ HAR

15 9 H 3R cd A TR 39! &
H 20 T H T HA €, dl A 3Thell
T T W 9 HE RN G B 2

(1) 20 &4 2) 30 &

(3) 40 & (4) 60 T



SAT-2
56.

57.

58.

59.

60.

The diagonals of a rhombus are
15 m and 20 m long. Find its area.

1) 150 m?

(

(2) 300 m?

(3) 450 m?

(4) None of these

The wall around a semicircular

garden is 180 m long. The area of

the garden is

(1) 1800m? (2) 1900 m?
(3) 1925m? (4) 1825m?

If the measure of each interior
angle of a regular polygon is 135°,
then the number of its sides is

() 5 (2) 6

3 7 (4) 8

The lengths of parallel sides of a
trapezium are 60 m and 80 m
respectively. If the distance of its
parallel sides is 20 m, find the area

of the trapezium.

(1) 1200m? (2) 1400 m?
(3) 1800 m?  (4) 2400 m?

Find the area of a parallelogram of
which a diagonal measures 65 cm
and of which two adjacent sides
cm and 75

measure 70 cm

respectively.
(1) 4000 cm?
2) 4200 cm?

(
(3) 4800 cm?
(4) None of these
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59.

60.
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F@ TS ¥ T 15 m A

20 m ST & | SThT &A% I HY |

(1) 150 m?
(2) 300 m?
(3) 450 m?
(4) T 9 P Tl

TF  FEGAHER W@ W IER
180 m &t & | a1 &4het B

(1) 1800m? (2) 1900 m?
(3) 1925m? (4) 1825m?
FHl FHEEYS % UAE IFd: hIUT
® AT 135° & | STH SIS I

T ©

(1) S (2) 6

) 7 4) 8

TS AT 60 m AAM 8O m & | AT
SR FHIOR ST H G 20 m &,
Al THca T &R T B |

(1) 1200m? (2) 1400 m?
3) 1800m?  (4) 2400 m?
65 cm TV AT THIGR FqHS I
AR A L STER I IAEA
HT'ITaﬁ & AT HHI: 70 cm ol

75 cm% |

(1) 4000 cm?
(2) 4200 cm?
(3) 4800 cm?
(4) T § HE T
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[ HIS-1]

History

61.

62.

63.

64.

65.

66.

67.

Which treaty recognised Greece as
an independent nation ?

(1) Treaty of Versailles

(2) Treaty of Vienna

(3) Treaty of Constantinople
(4) Treaty of Lausanne

Which of the following societies
was founded by Giuseppe Mazzini?

(1) Carbonari

(2) Young Italy
(3) Young Europe
(4) Jacobin Club

When did Ho Chi Minh form
Vietnamese Communist Party ?

(1) 1930 (2) 1931
(3) 1932 (4) 1934

In which famous battle were the
French defeated ?

(1) Nghe An
(2) Dien Bien Phu
(3) Ha Tinh

(4) Phan Boi

The resolution of 'Poorna Swaraj'
was adopted at which Congress
session ?

(1) Karachi (2)
(3) Lahore (4)

In which year did the
Depression" start ?

(1) 1928 (2)
(3) 1929 4)
IMF stands for

(1) Inland Maintenance Force

Lucknow
Haripur

"Great

1936
1981

(2) International Military Force
(3) International Monetary Fund
(4) Indian Monetary Factor
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g de™

FG Y FRT WH I WA I
AT Tl ?

(1) a@F R FY

(2) TR FY

(3) IEfeAIget ot G o

(4) ARTH GY

SEY A FRT HE GHST @l
TYAT i TS ?

(1) EFRT

(2) I et

(3) &I

(4) STl a9 TS |
U - R o e e R

el e S ?

(1) 1930 (2) 1931
(3) 1932 (4) 1934
FE TTE 95 § Wig A eRT ?
(1) 3

(2) T WAGE
(3) @& TE
(4) M A

HE HUH FEATH H TOT @RS
T TS T T ?

(1) 2) @IS
(3) WER 4) BIW
HG I9 * T HI TR g 2
(1) 1928 (2) 1936
(3) 1929 (4) 1981

IMF &1 907 &9

(1) Inland Maintenance Force
(2) International Military Force
(3) International Monetary Fund
(4) Indian Monetary Factor



SAT-2

68.

69.

70.

71.

72.

73.

74.

75.

The first
developed by

(1) Marco Polo

(2) Kitagawa Utamaro
(3) Johannes Gutenberg
(4) Erasmus

printing press was

Who among the following was the
leader of dalits ?

(1) Dr. B. R. Ambedkar

(2) Jyotiba Phule

(3) Mahatma Gandhi

(4) Sitaram Raju

Ravi Verma was a

(1)  Painter (2) Calligraphist
(3) Scientist (4) Colonist

Which of the following novels was
too moralising ?

(1) Chandrakanta
(2) Pariksha-Guru
(3) Padmarag
(4) Indulekha

Which European power first
acquired control over Bombay ?

(1) Dutch (2) English
(3) French (4) Portuguese

Who among the following was
known as 'Frontier Gandhi' ?

(1) Mahatma Gandhi
(2) Jawaharlal Nehru
(3) Abdul Gaffar Khan
(4) Bhagat Singh

Which of the following did not take
part in World War I ?

(1) England (2)
(3) Germany

Spain
(4) France

Who among the following set up
the first Jute Mill in Calcutta ?

(1) Dinshaw Petit

(2) J.N. Tata

(3) Seth Hukumchand
(4) Dwarakanath Tagore
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68.

69.

70.

71.

72.

73.

74.

75.

TH TS U o 9 g A
(1) HR TieAl §RT

(2) THAWTET SAMRT §RI

(3) STET TR §R1

(4) WIEHI s

T H Y A A & AT T ?

(1) Tfo Ffo IR0 FFETHI

(2) SATTET Ee

(3) TETCHT Tt

(4) EIERM 5]

IT o g

(1) =X (2) hEATITHT
(3) AMTH (4) SUTAIF
T IUET 0 ¥ B AT R

i qerE © 2

(1) TISHET (2) TS
(3) UERTT (4) TEorE
HE AT TE FIUAH G W
AT BT HA HAT ?
(1) = (2) 3US

6 W& (@) e
T H 9 F= g e & T o
ST ST E 2

(1) HeTcHT et

(2) STARIATA TB®

(3) 3TEcA TFR G

(4) W TE

T H W ®F TOH I g H 9
T o ?

(1) TTeivs 2) T

(3) STHAT (4)

T H ¥ HE FIUIH ¢ TA F
TIOAT Tkl H T 2

(1) TAE U

(2) Slo TFo 2T

(3) W3 EFHER

(



[ GEO- 1]

Geography

76.

77.

78.

79.

80.

What percent area of the whole

country does plain occupy ?
(1) 27% (2) 43%
(3) 30% (4) 50%

Which one of the following is the
main cause of land degradation in
Punjab ?

(1) Intensive cultivation
(2) Over-irrigation

(3) Deforestation

(4) Overgrazing

Regions of soils are
intensively cultivated and densely
populated.

(1) black

(2) red and yellow
(3) laterite

(4) alluvial

Cropping season from November to
May is called

(1)  Kharif
(2) Rabi
(3) Zaid

(

4)  None of these

"Temples of Modern India" was the
name given to dams by

(1) Pt. Jawaharlal Nehru
(2) Mahatma Gandhi

(3) Rabindranath Tagore
(4) Subhash Chandra Bose
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W
U H el YA & B § 2

(1) 27% (2)
(3) 30% (4)

43%
50%

USE H g H 3Ud W A HRU
TAHARAE ?
(1) TEEE (2

(3) SR
TS & Ted Wl qr

T STEET el € |

AT G
(4) TR

““““““““““

(1) et
(2) ST T et
(3) TR
(4) STce

ToEX 9 HE d% 1 HEA HiEH
FHECAT §

(1)
(2 I
(3) ST
(4) T 9 P @

Tl MY A ARA H AR AT
T T

(1) Uo STEEIcAlel H8& FRI

(2) TETCAT TTet g
(3) TSI TR g
(4) QIS =5 99 §RT



SAT-2

81.

82.

83.

84.

85.

Which one of the following
describes a system of agriculture
where a single crop is grown on a
large area ?

(1) Shifting Agriculture

(2) Horticulture

(3) Plantation Agriculture

(4) Intensive Agriculture
Limestone is found in which
rocks ?

(1) Igneous

(2) Sedimentary

(3) Metamorphic

(4) None of these

Which agency markets steel for the

public sector plants ?

(1) HAIL (2) TATA Steel
(3) SAIL (4) MNCC
Which one of the following
countries import iron ore from
India ?

(1) USA (2) Japan

(3) Russia (4) China
Which mode of transportation

reduces transhipment losses and

delays ?
(1) Railways (2) Roadways
(3) Pipelines (4) Waterways
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81.

82.

83.

84.

85.

TAH G HY FY FO H TES
& T Uohel A ST STt & 2

(1) ®HECAE FT

(2) SFTEET

@) S FT

@ T F

TR Y T 9 U eI € 2
(1) =g

(2) TEER

(3) HE I

(4) T G FIE @I

qES Th &5h IA i TSl

Il Rl YU hicl & ?

(1) HAIL (2) TATA Steel

(3) SAIL (4) MNCC

T 4 9 9 I 9RG I AR

3T T ST HLT & 2

ST
i)

GBS I HEA-AT BT TRAROT
&g TS goAd § HH AT E 2

(1) Yo

(1) Fo WHe e (2)

(3) ®dH (4)

(2) |eH AT

(3) TR (4) SToTETT



86.

87.

88.

89.

90.

[ GEO- 3]

Which movement has successfully

resisted deforestation in

Himalayas?

(1) Beej Bachao Andolan

(2) Chipko Movement

(3) Navdanya

(4) Joint Forest Management
The habitat of Lions in India is
(1) Gir forest

(2) Simlipal

(3) Ranthambhor

(4) None of these

The first Earth Summit was held

at

(1) Montreal

(2) Rio-de-Janeiro
(3) New York

(4) London

Which one of the following is a

kharif crop ?

(1) Paddy (2) Wheat

(3) Watermelon (4) Gram

The place of India in respect of
wheat cultivation is

(1) second (2) third

(3) fourth (4) fifth
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g | aige % oRiYg B A

RIAT HHATYE® T ?

(1) SIST SErew 3Tigie
(2) U AR

(3) TR

(4) HIE o T

qRA § Fel ol a9 €

(1) R
(2) THAMTA
(3) TUTIRIR
(4) T ¥ FE I
88. WU YAl TG g o
(1) e d
(2) -SSR A
(@) = |
(4) A=AH
T H ¥ HH % BT § 2
(1) o @
(8) XA (4) =

90. TE I Welt § YR T T &

(1) Faa (2) T
(3) =4 (4)
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[ CIV-1]

Civics

91.

92.

93.

94.

95.

NTSE-2020/21-S-1II/502

The of

Panchayati Raj is based on the

present structure

91

Constitutional Amendment Act

(1) 65th (2) 73rd
(3) 74th (4) 76th
A person  who does not

discriminate others on the basis of

religious beliefs, is

1) Feminist

(

(2) Communist
(3) Casteist

(4) Secularist

The best form of government for
promoting dignity and freedom of

the individual is

(1) Democracy

(2) Dictatorship

(3) Army Rule

(4) none of these

Number of Lok Sabha Members 94.
from Jharkhand is

(1) 12 (2) 13

(3) 14 4 15

The Chairperson of a Municipal

Corporation is

27

92.

93.

95.
(1) Deputy Commissioner
(2) Sarpanch
(3) Mayor
(4) M.L.A. of the area

SAT-2

AT THIME
. UEEdl TS R aaH AT 9 a9e
% HE WET TR W I
T2
(1) 653t (2) 733at
(3) 74t 4) 76dt
qiieh I & YR W ST & H

FHA TR T 99T TEl FA §, Te
3

(1) R 37T ghRas
(2) WTETR

(3) el

(4)  oH SRYeTTema!

TR T WAd B aAl 9T Eh
AT o AU WHR HT a9 3T
®Y T

(1) W

(2) o YR

(3) AT T IMEA

(4) T ¥ B I
SREUS 59 T AR & TSl i
T

(1) 12 (2) 13
(3) 14 4) 15
TR A I SeHe Bl €
(1) U

(2) WUF

() WR

(4) 39 & FH TEER



SAT-2

Economics

96.

97.

98.

99.

100.

Which is considered to be one
of the most important attributes
for comparing the development of
countries ?

(1) Health and Education

(2) Infrastructure

(3) Per capita income

(4) Growth of technology

Which sector of the Indian

Economy has grown the most over
thirty years ?
(1)

Primary sector

(2) Secondary sector

(3) Tertiary sector

(4) None of these

Reserve Bank of India grants loans
to

(1) General public

(2) Private companies

(3) Commercial banks

(4) All of these.

Human Development Report is
published by

(1) UNDP

(2) World Bank

(3) Government of the country
(4) central bank of the country
In which of the following years,
was Consumer Protection Act
passed ?

(1) 1989 (2) 1980

(3) 1985 (4) 1986
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96

97.

98.

99.

100.

e
M & THE H qeET ko

HEcqoT TOT i & ?

(1) T qgr wel
(2) STk XA
(3) YA AT A

(4) Ih-Ieh! T T

g Iu H AUF dh Y &F H
IR I I T g8 2

(1) SN &

(2) FeEH &

(@) T &

(4) T 9 FE &

IR I576 doh FOT U el &
(1) T SHar &

(2) TSI T hI

(3) SATEHT I Sehi i

(4) T I gl Fi

TG SRt {IE YehT I Bl &

(1) UNDP &R

(2) T 5 gRT

(3) =30 I WWHR FRT

(4) T B FRF S FRI

T H ¥ HG qU U G

31999 9T gl ?
(1) 1989 2)
(3) 1985 (4)

1980
1986
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